¥ VWENCERL

WENCERL

PRODUCT
CATALOGUE

. 86-0576-86970099
M echo@wencerl.com |
@& www.wencerl.com g "
Q@ Qianyangxia Village, Wengiao ' I -- 1
Town, Wenling City, Zhejiang |
Province, the PRC ¢ 1 LR e rnn e nsens s AARRER]
’ | T o e L
REE !ijl [T

4 Ao
e i R
R - - B
3 - ' g7 o B
s PR -
V2, =
. I
< 1
¥ i

i
=f

S B B



P118-122

FEHRRFAZET]

P21 -13 Deep turning damping P185'186
P133-112 71 K 5511508

SEFETD
?ylllndncal turning Preparation description
00 WED for blades

Slotting tool

P13-20 P13-11]

pal=bi b= ng et
; : nternal turning
Diagram of cutting tool

tool group

P173-184

ECNED

Centering machine slot knife

CATALOG

» Classic Comes from Speciality
tHmR EFEAL




CERL

H 3% & 5| Contents

1
)
\

\
|
) |

[JICFNR/L

Page-P23

[ICLNR/L

[ICBNR/L

LTJINR/L

LITENN

Page-P45

CJTWNR/L

A\
) |

\

A\

S

!

[[JCKNR/L

[ICSNR/L

[[JCGNR/L

LITWNR/L-B

Page-P46

[IVJINR/L

[JVQNR/L

\
|
\

A

[ICMNN-80

Page-P29

[ICMNN-100

[ IDPNN

Page-P31

T 5%

— e

X

\

LIVUNR/L

Page-P49

[IVVNN

LIWLNR/L

\
\
\ {

LIDJNR/L

LIDQNR/L

Page-P33

LIDFNR/L

Page-P34

| |

X
2

LIWENN

LIWWNR/L

LIWWNR/L-B

)\
) |
A\

) |
\\

\

WWLNR/L

SCLCR/L

SCKCR/L

A
\
|

SCFCR/L

SCMCN

SCMCN-100

[JSBNR/L Page-P35 [JSDNN Page-P36 [JSKNR/L Page-P37
[*105°
4
ST f

[ISRNR/L Page-P38 [ISSNR/L Page-P39 COTQNR/L Page-P40

{\
’ ' ‘ 91 '
LITENR/L Page-P41 LJTGNR/L Page-P42 JTBNR/L Page-P43

\
A
\

SCGCR/L

Page-P56

SCBCR/L

Page-P57

SCACR/L

Page-P57

n https://www.wencerl.com

https://www.wencerl.com




H 3% % 5| Contents

\
\

SDACR/L

SDFCR/L

\
\
\

SRAPR/L

SRDPN

Page-P69

SRDCN

\

\

SDNCN

Page-P60

SSBCR/L

\

\
\

- -

SRGPR/L

Page-P70

SRACR/L

Page-P70

SRGCR/L

A
\

9
_

SDZCR/L

Page-P61

SSKCR/L

\

!

A
\

HAOR

Page-P71

GTTR/L

Page-P72

SVNR

\
\

Page-P62

SSDCN

Page-P63

STFCR/L

Page-P63

\

N

A

4
LWLFW

SVNR

CKBR

Page-P73

[ICLNR/L

Page-P76

91°

-

A
) |

@a

e o

18|

A\
)|

\

]
$ Dmin|
-—

LICKNR/L

LICWNR/L

LITJNR/L

Page-P79

w w w w w
; . : g g
) 0 § 9] Q
& 2 T By %
— S

— e "l._“* — o

Page-P64 STWCRI/L Page-P64 STECR/L Page-P65
! ks 2
SVJ*R/L Page-P65 SVV*N Page-P66 SVQ*R/L

\

\

1

L

COTENR/L

Page-P80

COTWNR/L

CJTUNR/L

Page-P82

A
)

72 EM@

\

SVU*R/L

Page-PB7

SVWBR/L

Page-P67

SVZBR/L

Page-FP68

=

c

IE
(=]
L

owr=

£
EI
a

LITQNR/L

Page-P83

LITLNR/L

Page-P83

[JSKNR/L

Page-P84

https://www.wencerl.com

https://www.wencerl.com n




B #Z 35| Contents

\

\

\

[JSSNR/L

Page-P85

LIDQNR/L

Page-P86

CIDWNR/L

Page-P87

SDQCR/L

Page-P101

SDZCR/L

Page-P101

SDWCR/L

@

\

\

] -

1Y
A

=

[JDUNR/L

Page-P88

[JDZNR/L

Page-P89

COVQNR/L

Page-P90

SDXCR/L

Page-P102

STUBR/L

Page-P103

STUCIR/L 93°

A

A

A

CIVXNR/L

Page-P91

[IVUNR/L

CIVWNR/L

Page-P93

STUCR/L

STFCR/L

STUPR/L

\

=

A
L\

A

LIVZNR/L

LJWLNR/L

2MWR

Page-P95

STFPR/L

STWCR/L

STWPR/L

\

e

[IWLNR/L

A

\
\

-

SSSCR/L Page-P108 SSKCR/L Page-P108 SVQ*R/L Page-P109
SVU*R/L Page-P109 SVW*R/L Page-P110 SVX*R/L Page-P110

CJTUNR/L 93° Page—P96 SCLCRI/L Page-P97
.r' iiiiiiiiiiiiii
50" ‘= 7554 —
= o
SCWCR/L Page-P98 SCKCR/L Page-P98 SCZCR/L
(] Caem=
- l g
SCLCR/L 95° Page-P99 SCKCR/L75°  Page-P100 SDUCR/L Page-P100

\
A

A

SVJ*R/L

Page-P111

SVZ*R/L

Page-P111

SWLCR/L

Page-P112

n https://www.wencerl.com

https://www.wencerl.com ﬂ




-

\/CERL

H % % 5| Contents

\

e

/

|

\

SR

SWUBR/L

Page-P112

SWDCR/L

STUNR/L 93°

SNR/L

Page-P125

SUNR/L

Page-FP126

SMT Page-P126

\

-

\

S

SCLNR/L 95°

Page-P114

SCKNR/L 75°

Page-P114

STFENR/L 91°

Page-P115

SNR/L

Page-P127

CNR/L

Page-F127

STTR/L Page-P128

SIS

b

—

)\

A\

STQNR/L 105°

Page-P115

STLNR/L 95°

Page-P116

STWNR/L 60°

Page-P116

B-SER/L

Page-F128

SER/L

Page-FP129

CER/L Page-P129

SWLNR/L 95°

\

\

SER/L

Page-P120

CTTR/L

Page-F131

KTTXR Page-P131

SCLCR/L

Page—P120

SDUCRI/L

STUBR/L

Page-P121

SVNR

Page-P132

L

-—

SWUBR/L

Page-P121

Page-P122

HNGR/L

Page-P122

https://www.wencerl.com

https://www.wencerl.com ﬂ



o

CERL

H % % 5| Contents

\
\

ZQUOIRL

Page-P134

MGEHR/L ][]

Page-P135

MGEHR/L (1]
(I EmiR )

\
\

=

%

\
\

\

CGWSR/L
(REER)

Page-P137

QE[IDR/L
(Hk i 15 BY)

R-MGEHR/L

\
\

e,

L
TTER/L Page-P138 KGMR/L R/L1230]0[]
(FEER) [(EE e )

X
A

DGTR/LLIC]
(FHFFER)

Page-P141

GYHR Page-P142 MGEVR/L Page-P143 MGEUR Page-P144
(=3 £:0) (iEL 7] 4 o T A)
SGB[I[JR/L Page-P144 CGB[I[JR/L Page-P145 KTGFR/L Page-P145

S —
SGEL Page-P147 SGESR Page-P148 OCOCsR/L Page-P148
$0 Max
TNH&EEER
COOCOSR/L Page-P149 SPB Page-P149 STFPR Page-P150
i = & D Max & D Max
RO @
THHEEZELEE THNEEER
SMGB226 Page-P150 SSACN Page-P151 STC Page-P151
& D Max
pi= Nl ©u
: r TAAEER
STACRI/L Page-P152 SRAPRI/L Page-P152 MGFVR/L Page-P153
TAHELRE
FGHH Page-P154 MGHH Page-P155 QFFD/QFGD Page-P157
‘“Mﬂ:
@- EE feoi=
THHEFER L
QFHD/QFHS = = =
QFKD/QFKS Page-P158 SNGR/L Page-P159 SIGER/L Page-P160

A
|

CTGFR/L

Page-P146

PCHR/L

Page-P146

SVQBR/L

Page-P147

n https://www.wencerl.com

\

=

\

MGIVR/L

Page-P161

TTIR

Page-P162

QCIDR/L

Page-P162

https://www.wencerl.com n




- AN

CERL

H 3 % 5| Contents

A

JSDN3CR/L

JSCL2CR/L

Page-P174

JSDJ2CR/L

Page-P175

\

S
JoZ
KTGFR/L Page-P163 SGIVFR Page-P163
o gyj//
MFHR Page-P164 MGIUR/L Page-P165 GHVR/L Page-P165

'S

Page-P166

2020-[]
HRALIE

Page-P166

2020-[]
EfNE

Page-P167

e

Page-P167

CBSNR/L

Page-P168

Page-P168

Page-P170

Page-P171

Page-P171

Page-P172

https://www.wencerl.com

JSVJ2[R/L Page-P175 SAB[IR/L Page-P176 CTPR/L Page-P176
TBPR/L Page-P177 CTPAR/L Page-P177 KTKFR/L Page-P178
4 t @] 100&%
KTKFR/L Page-P178 TBPAR Page-P179 E-PTXNR Page-P179
TTER/L Page-P180 KGMR/L MGEHR/L (][]  Page-P181
(FEHEL)

KTGFL Page-P182 SDUCRI/L Page-P182 KTKFSL ' Page-P183
GTESL Page-P183 CTPASL Page-FP184

https://www.wencerl.com




B I CERL I 715448 A ouonacr o oo s

(1 71K Blade

(2) CEIER C-type ring (D 71 K Blade

(3 # K Gasket (2) # K 48 # Screw washer

(4) E#12 2 Holddown plate screw (3 # 5 Gasket

(5) [£#& Holddown plate (4) £ # Holddown plate

(6) E#3% % Holddown plate spring (5) JE#542 £ Holddown plate screw

httpsﬁ)’/www.wencerl.com https://www.wencerl.com




M @ CERL M 5 & Eosewioraume oo arol

(1 71K Blade

(2) # ;5 #8 # Screw washer
(@) #KE Gasket

(4) E#7 12 £ Holddown plate screw
(5) [E#& Holddown plate

(1) 715 Blade

(2) fr§4 Center pin
(3 # K Gasket

(4) fm#2 # Side screw

(5) [£#f 42 # Holddown plate screw
(6) [£#fHolddown plate

(7) 3% Spring

https://www.wencerl.com

https://www.wencerl.com



BN @/ CERL I 71548 A Eeonunorcorm oot e

S-typeds-type

(1) 71k Blade

(2) cEIFRC-type ring
(3 #K Gasket

(4) L&Y% L-type hook
(5) 84 Screw

(1) #8# Screw
(2) 715 Blade

https://www.wencerl.com

@

®—.

y

b

s
N

https://www.wencerl.com



B @ CERL I 71548 A Hoonarorcurmo oo e

(1) 71K Blade (1) # 824 Screw washer
(2) #mE1E% Screw washer (2 71K Blade

@) # K Gasket (3 # K Gasket

(4) FEtR Holddown plate (4) M4 £ Side screw

https://www.wencerl.com https://www.wencerl.com




8
o 5
= —— O
E e A uoBexey |einads HH 3w ,. il g_ m
...M1 Lai | d u]
m = i .GE B|BuE xBlIBA SEWH > m
= ajfuBIpEND #HTE T W
o v -
W O (=- sibuepenbey =T N7 | L W
%) i | IN : :
d —_— — — — _ s lIJ-‘-
m e v62 g ] aienbg ML |_ .w =
3 v
(=] ) " — o
m. S06L | 9 i - . F~ N — Hine 3 O |H £
o ......._m G861 | § o0z | Y = { 4 ___ q =
O I, i | ! 55 obue xauan, LSS b |
—r3r— LEL v 0Ll d L [ weibojojaied HMELA £
n_.._.;.“ ' 4 G256 | B 05k | N i .55 @|Bue xaLap, SO a
A_..._” 2 = L.EE o S _ 1 (A 9 sifusipenn #ARE O
T G2l - oL |
gﬂ ] om__%%ss % : — 'l Y L .ogeBuexeuen  0BHU 9
) G H Ls . sifiuespeny M S |
R 8peig Bumng jo ybus UIPIM WwbieH | uonosiig mumﬁ jo adeysg
.._.+—| HEl (wiw}oz ¥ (i jus @ _ g MY
0]
e
L

cl G¢ G¢

o« g

a|bue ui-1no W\ [3 n

AN TR h,w.._ Zr| | _svm 3

Gz -l o£9, i | Gm- -
B 0 B N ay

| o =16 | —
2 (2| & |8, ,gr.___ 1 S| |

5 = ] 1758 L

9
oy Sk 0 S 1 5 | Sty g
e A &7 Pl o | | B

L, X .___n.m_m,.w.. d| VL | T e 4| =4 |v

-
-
-
=
wdall
B
-
|-
"]
-
S,
[r




.

BMCFNR/L

-

Bao1° s
Tool cutting edge angle 91°

\91“
I

5B ZE T

. Cylindrical turning tool

o

71 K Blade

k2

L1

TI#
Shim

SHET
Pin

Clamp

iR RBL  RTF

Screw

Wrench

By (=)
0 h b Lot | nt | o @ & m
MCFNR/L2020K 12 20 | 20 | 125 | 32 | 20 | 25
MCFNR/L2525M12 CNOI[1204000 25 25 150 32 25 32 MC1204 | CTMB17 | HL1813 | MLO625 L3.0
MCFNR/L3232P12 32 | a2 | 170 | 32 | 32 | 40
MCFNR/L3232P19 | CNCICJ19060101 | 32 | 32 | 170 | 36 | 32 | 40 | mc1904 |cTM1022| HL2217 | MLOB30 | L4.0

7] K Blade

##& Specification

ZNH JERRET  EH I HReR4T

Shim Platescrews Clamp Shimscrew Wrench

wF

DCFNR/L2020K12 20 20 125 32 20 25
DCFNR/L2525M12 CNO[12040000 | 25 25 150 32 25 32 | MC1204 Méx 21 HLD-1 M&X 9P L3.0
DCFNR/L3232P12 32 32 170 32 32 40

M $& Specification

AL
Shim

$HET
Pin

JEHR
Clamp

#EET

Screw

HF
Wrench

i
0 h | b | L | L1 a | {2 | o |
ZCFNR/L2020K12 20 | 20 | 125 | 32 | 20 | 25
ZCFNR/L2525M12 | CNCIC11204000 | 25 | 25 | 150 | 32 | 25 | 32 | MC1204 |CT618-Z | HLZ-C | Mex2s | 30
ZCFNR/L3232P12 32 | 32 | 170 | 32 | 32 | 40

AFZUSH LA, TEZHEREREH

23 https:)’/www.wencerl.com

CEER L. | 51227189 3 Compoundcyinaeal g oo

BMCLNR/L

(= F1RMA95° B
Tool cutting edge angle 95°

SMEIZET]
\__ Cylindrical turning tool )

57
e =]
L1
L
|

i =

‘\\\ e = Mﬂ il o
N/ TypeM
.l [ | f y
C &9]! )

— _,/’/ b - -

=3 ol D e a
of =
0 h | b | Lo b || @ § 'ﬂ
MCLNR/L1616H12 16 | 16 | 100 | 32 | 16 | 20
MCLNR/L2020K12 20 | 20 | 125 | 30 | 20 | 25
MCLNR/L2525M12 CNOO1204000 25 25 150 31 25 32 MC1204 | CTM617 | HL1813 | ML0625 L3.0
MCLNR/L3232P12 82 | 82 | 170 | 83 | 32 | 40
MCLNR/L4040R12 40 | 40 | 200 | 35 | 40 | 50
MCLNR/L2525M16 25 | 25 | 150 | 37 | 25 | 32
MCLNR/L3232P16 | GNCICI1606(1C] | 32 | 32 | 170 | 36 | 32 | 40 | MC1604 [ CTM822 | HL2217 | MLOB30 | |50
MCLNR/L4040R16 40 | 40 | 200 | 36 | 40 | 50
MOLNR/LI292P19 | enotaosrin |—2{22 {179 | 99 L 82 | %9 | 0904 (cTMi022| HL2217 | MLOB3O | L4.0
MCLNR/L4040R19 40 | 40 | 200 | 39 | 40 | 50 ‘
Blade £ Spe atio DY :
= Plate scre amp g e
o
0 Bl & | & | & | we| ¢ @
DCLNR/L1616H12 16 | 16 [ 100 [ 32 [ 16 | 20
DCLNR/L2020K12 20 | 20 [ 125 [ 30 [ 20 | 25
CNOID12040100 MC1204| M6x21 | HLD-1 | M6X9P | L3.0

DCLNR/L2525M12 25 | 25 | 150 | 31 | 25 | a2
DCLNR/L3232P12 32 | 32 [ 170 | 33 | 32 | 40

#& Specification

ZCLNR/L2020K12 20 20 125 30 20 25
ZCLNR/L2525M12 CN[CI[120400 25 25 150 31 25 32 MC1204
ZCLNR/L3232P12 32 32 170 33 32 40

CTe18-Z

M8 25

HLZ-C

AFZAUSTEN, THREZEEREREH

https://www.wencerl.com

24




— L I T R PP ——

BMCBNR/L BMCKNR/L

-
F BT 3
Tool cutting edge angle 75°

( FRfTs° )
Tool cutting edge angle 75°

FNEE)

SNEIZET] ) :
L Cylindrical turning tool P

Cylindricalturningtooll}

it J1& FHET FEHR  sdEs iF JEHR  Jskiges  $RF
71 Fy Blade Mtk apeciiication ShiTn Pin Clamp Screw Wrench 7] Fy Blade Clamp Screw Wrench

= =D
0 h| b | L | Lt | n| ot @ @@ 'a 0 h| 6 | L || m | ¢ fo § 'ﬂ & ﬁ
MCBNR/L1616H12 16 e 100 26 16 16 MCKNR/L1616H12 16 16 100 21L5 16 20 MLO620
MCKNR/L2020K12 20 20 125 21.0 20 25
MCBNR/L2020K12 | CNOIC12040000 | 20 | 20 | 125 | 82 | 20 | 17 CNOO120400] MC1204 | CTM617 | HL1813 L3.0
weaed | ey | mivans | wioess | e MCKNR/L2525M12 25 | 25 | 150 | 310 | 25 | 32 ML0625
MCBNR/L2525M12 o5 | 25 | 150 | 32 | 25 | 22 MCKNR/L3232P12 - R T TG B
MCKNR/L2525M186 25 | 25 | 150 | 38 | 25 | a2
MCBNR/L3232P12 82 | 82 | 170 | 82 | 32 | 27 CNLILI1606L1C] MC1604 | CTM822 | HL2217 | MLO830 | 530
MCKNR/L3232P16 32 32 | 170 | 36 32 40 4.0
MCBNR/L2525M16 o5 | 25 | 150 | 40 | 25 | 20
CNCIC11606010] MC1604 | cTMs22 | HL2217 MLO830 tig MCKNR/L3232P19 cNO[t190600 32 32 170 35 32 40 MC1904 | CTM1022 | HL2217 ML0830 L4
MCBNR/L3232P16 a2 | 32 | 170 | 40 | 32 | 27 :
MCBNR/L3232P19 32 | 32 | 170 | 41 as || 27 71 B Blade #1#% Specification Z1E EHEET EWR O DHERET RTF
CNCICI1906000] MC1904 | CTM1022 | HL2217 | MLO830 | L4.0 Shim _ Platescrews _Clamp_ Shimscrew Wrench
MCBNR/L4040R19 40 | 40 | 200 | 41 40 | 35 ‘ @
#0#& Specification 7 ﬁ EtRiEET EHR TIHRET WF DCKNR/L1616H12 16 16 | 100 | 31.5 | 16 20
Shim _ Plate screws _Clamp _ Shimscrew Wrench DCKNR/L2020K12 20 | 20 | 125 | 31.0| 20 | 25
CNOO1204000 MC1204 | M6x21 | HLD-1 | M6X9P L3.0
o f @ DCKNR/L2525M12 25 | 25 | 150 | 310 | 25 | a2
DCKNR/L3232P12 32 | 32 | 170 | 310 | 32 | 40
DCBNR/L2020K12 20 20 | 125 | 32 20 17 i oa T8 SET ER 25T HFE
7] K5 Blade # #& Specification Bhim Bin Claiip. LAtaw | Wocaen
DCBNR/L2525M12 | CNCJJ12040000 | 25 | 25 | 150 | 32 | 25 | 22 |MC1204| M6x21 | HLD-1 | MBX9P L3.0
5o | @)
DCBNR/L3232P12 || | G || | e || 0 i - - Ll t @ IO i.'g eﬁ
ZCKNR/L2020K12 20 | 20 | 125 | 310 | 20 | 25
ZCKNR/L2525M12 | CNOI[112040001| 25 | 25 | 150 | 31.0 | 25 | 32 | MC1204 |CT618-Z | HLZ-CB | M8X25 ::28
ZCBNR/L3232P12 32 | 32 | 170 | 310 | 32 | 40

AFFZUSH LR, TEZHEREREH

25

https://www.wencerl.com

AFZUSHENA, TEZHEERERES

https://www.wencerl.com

26




B O CERL R, otz 3 compoundcncralming oo

BMCSNR/L BMCGNR/L

d B 45° il — — ( TiEmo1° N
Tool cutting edge angle 45° Tool cutting edge angle 91°

1,

91°

45° }

S“J
ke o

5B % 7
L. Cylindrical turning tool 3

SMEET)

L Cylindrical turning tool P

ifinati TI £HET EHR  Jgskiges  $RF ificat] T SHET EtR  Wsdge HF
A f5 Enscification Shim Pin Clamp Screw Wrench A1 BRechisation Shim Pin Clamp Screw Wrench

o

o

N SNRi Sas0ics & 5 e ac a5 Sk MCGNR/L1616H12 16 16 100 32 16 20
MCGNR/L2020K12 20 20 125 30 20 25
CNOI[CH204010] MC1204 | CTM617 | HL1813 | ML0625 L3.0
MCSNR/L2525M12 | CNCI[12040000 | 25 25 150 38 25 32 | MC1204 | CTM617 | HL1813 | ML0625 L3.0 MCGNR/L2525M12 25 25 150 32 25 32
MCGNR/L3232P12 32 32 170 32 32 40
MCSNR/L3232P12 32 32 170 38 32 40

71 B Blade 41 #& Specification TIH EiEEEsT EH O 3igsr wmEF

Shim Platescrews Clamp Shimscrew Wrench

P 7 ERIEST EW BE5T KT

71}y Blade Shim Platescrews Clamp Shimscrew Wrench

0 h b L | v | m f @ 0 @
DCSNRIL2020K 12 50 | 20 | 125 | a5 | 20 | o5 DCGNR/L1616H12 16 | 16 | 100 | 32 | 16 | 20
DCGNR/L2020K12 | 20 | 20 [ 125 | a0 | 20 | 25
CNOIC1204000) MC1204 | M6x21 | HLD-1 | M6X9P | L3.0
DCSNR/L2525M12 | CNOICI12040001 | 26 | 25 | 150 | 38 | 25 | 32 |MC1204| M6x21 | HLD-1 | M6X9P | L3.0 DCGNR/L2525M12 25 | 25 | 150 | 32 | 25 | 32
DCGNR/L3232P12 32 | a2 | 170 | 32 | 32 | 40
DCSNR/L3232P12 32 | 32 | 170 | 38 | 32 | 40
e H £ ER BE  HmF
I J& ﬂ%%T =3
71 B Blade # #%& Specification e =i Gimrll e v o
“
L - e || 0w | o~
ZCGNR/L2020K12 20 | 20 | 125 | 30 | 20 | 25
ZCGNR/L2525M12 | CNOJC1120400C1 | 25 | 25 | 150 | 81 | 25 | 32 | MC1204 [CT618-Z | HLZ-C | M8x25 | 50
ZCGNR/L3232P12 32 | 32 | 170 | 33 | 32 | 40
AFEZRSAENE, TEZIRERIEHRES AEZHSAEN, TEZEERERES

27

https://www.wencerl.com https://www.wencerl.com R4




1.

CER L | 9 718 5% Compound cycrialuming oo

. oo - ( E@mac )
Tool cutting edge angle 50° | Tool cutting edge angle 40° o
o
Q:-j--‘—’
9 9"{??—
SNEAED zl SMNEET = =
ke Cylindrical turning tool 0, & 3 Cylindrical turning tool P .
pE:] TmE DEl T
Type M \ Type D / TypeM \

SHET
Pin

Clamp

ER uskiges

Screw

HWF
Wrench

AFZUSH LN, TEZHEREREH

(= ol =
!ﬂ h b T A f @
MCMNN1616H12-80 16 16 | 100 | 85 16 8 MGMNN2020K12-100 20 | 20 | 125 | 35 | 20 10
MCMNN2020K12-80 20 20 125 35 20 10
CNOO120400 MC1204 | CTM617 | HL1813 | MLO0625 L3.0 MCMNN2525M12-100 | CNCJCJ1204001 | 25 25 150 36 25 | 12.5 | MC1204 | CTM617 | HL1813 | MLOB25 L3.0
MCMNN2525M12-80 25 25 150 38 25 12.5
MCMNN3232P12-80 32 32 170 38 32 16 MCMNN3232P12-100 32 32 170 36 as 16
— B OERIEET EH REET  RE x 2
2 Specification Ik ; = Plate scre a o 5
H & Sp Shim Platescrews Clamp Shimscrew Wrench = P
0 h b L L1 | hi f @ 0 B £ - - Rt i @
DCMNN1616H12-80 16 16 100 35 16 8 DCMNN2020K12-100 20 20 125 35 20 10
DCMNN2020K12-80 20 20 125 25 20 10
CNO[O1204000 MC1204 MEx21 HLD-1 M6 9P L3.0 DCMNN2525M12-100 | CNCI[C12040000 25 25 150 36 25 12.5 [MC1204| M6Xx21 HLD-1 M6 9P L3.0
DCMNN2525M12-80 25 25 150 38 25 12.5
DCMNN3232P12-80 32 32 170 38 32 16 DCMNN3232P12-100 32 32 170 36 32 16
ificati 2 $HET EHR BT wF ificati JI8 e 3 IF
I #& Specification 73_3: ik N #& Specification o H
MAs Sp Shim Pin Clamp  Screw Wrench A#& Sp Shim Pin Clamp Screw Wrench

o <
° h b o = R oo | {Of | Qo | 0 h b L Lo nt f b)) i_‘g P
ZCMNN2020K 12-80 20 | 20 | 125 | 35 | 20 | 10 ZCMNN2020K12-100 20 | 20 | 125 | 35 | 20 | 10
ZCMNN2525M12-80 | CNCICI1204001 | 25 | 25 | 150 | 88 | 25 | 12.5 | MC1204 [CT618-Z | HLZ-C | M8X25 | |50 ZCMNN2525M12-100 | CNCIC11204000) | 25 | 25 | 150 | 36 | 25 | 125 |MC1204|CT618-Z |HLZ-CB| M8x25 | |50
ZCMNN3232P12-80 32 | 32 | 170 | 38 | 32 | 16 ZCMNN3232P12-100 a2 | a2 | 170 | 38 | 32 | 16

AFZAUSTEN, THREZEEREREH

29 7Https:-,-’/www.wéncérl.com 7I;1ttps‘:,‘//www.wéncérl.com 30




T

HCERL

57[\ E 7] E ‘;%’ 'j:t Compound cylindrical turning tool

BMDPNN

" 862.5° )
Tool cutting edge angle62.5°

62.5°

/

SMEIZET
Cylindrical turning tool

",

o°

//\27.5“

T
Shim

SHET
Pin

ER
Clamp

WKigee  RF

Screw

Wrench

BMDJNR/L

ek )
Tool cutting edge angle 93°

71 i Blade

#11#& Specification

Shim Plate screws

=)
g b L | 1 | n f @ @ m
MDPNN1616H11 16 | 16 | 100 | 36 | 16 | 8
MDPNN2020K11 | DNCICI110400C1 [ 20 | 20 | 125 | 86 | 20 | 10 | MD1103 | CTMs13 | HL1813 | MLO625 | |20
MDPNN2525M1 1 25 | 25 | 150 | a6 | 25 | 125
MDPNN2020Kkts | o~ 120 |20 [ 125 | 43 [ 20 | 10
MD1504
MDPNN2525M15 25 | 25 | 150 | 43 | 25 | 125 CTM619 | HL2114 | MLO625 | L3.0
DNCICI1506010] MD1506
MDPNN3232P 15 32 | a2 | 170 | 43 | 32 | 16
JI8 EAREEET JIEE5T RF

Shim screw Wrench

g h b L L1 h1 f iO;

DDPNN1616H11 16 16 | 100 | 36 16 8

DDPNN2020K11 DNIC11040000 | 20 20 | 125 | 36 20 10 | MD1103| M6x21 | HLD-3 | M5x9P

DDPNN2525M11 25 25 | 150 | 36 25 | 125 i

DDPNN2020K15 20 20 | 125 | 43 20 10 ’
DNI15040007 MD1504

DDPNN2525M15 25 25 | 150 | 43 25 | 125 M6x21 | HLD-2 | M6X9P
DN[I11508010] MD1506

DDPNN3232P15 32 32 | 170 | 43 32 16

##& Specificati

on

THET
Pin

JETR
Clamp

53]

Screw

RF
Wrench

P
g SO IR B I io; an | {11 | o |
ZDPNN2020K15 20 | 20 | 125 | 39 | 20 | 25
ZDPNN2525M15 | DNOJC11504001 [ 25 | 25 | 150 | 40 | 25 | 32 | MD1504 |CT618-Z| HLZ-D | M8x25 | |30
ZDPNN3232P15 32 32 170 42 32 40

AFZUSHENA, TEZHEREREH

31

https:j/www.wence rl.com

6%
~ HMAZET
s Cylindrical turning tool )
Y DB ST ME
y .- Type D \"\. / TypeM \;\
}t. ."l | r" ‘ ’@ . :
Blade g ope d £ i 4
_ = amp _ -
e
h b I L4 h1 f @
MDJNR/L1616H11 16 16 100 | 31.5 16 20
MDJNR/L2020K11 DNCIC11040 20 20 125 33 20 25 MD1103 | CTM513 | HL1813 | ML0625 ::gg
MDJNR/L2525M11 25 25 150 33 25 32
MDJNR/L2020K15 BNLID 804010 20 20 125 39 20 25 diEEs
MDJNR/L2525M15 25 25 150 40 25 32 CTM619 | HL2114 | MLO625 L3.0
DNCIO150800] MD1506
MDJNR/L3232P15 32 32 170 42 32 40
= o & 5 i
Dldde = = )
- dle e cl cre e
g h b L L1 h1 f / O/
DDJNR/L1616H11 16 16 100 al.5 16 20
DDJNR/L2020K 11 DNCIO1104000 20 20 125 33 20 25 |MD1103 HLD-3 M5X9P
DDJNR/L2525M11 25 25 | 150 33 25 32
M6 x21 L3.0
DDJNR/L2020K15 ORCICSIAEE 20 20 125 39 20 25
‘ MD1504
DDJNR/L2525M15 DNOO15060000 |23 25 | 150 40 25 32 | yD1=08 HLD-2 | MBX9P
DDJNR/L3232P15 32 32 170 42 32 40
Blade 5 ope a E, - ,
- D : &
i o
g h b L | L1 | hi f @ an | O | o |
ZDJNR2020K15 20 20 125 39 20 25
ZDJNR2525M15 DNLCI[15041C] 26 26 150 40 25 32 MD1504 |CT618-Z| HLZ-D | M8X25 Il:gg
ZDJNR3232P15 32 32 170 42 32 40
AFEZESAEN, TEZEERERES

httpsf//www.wencerl.com 32




— 1.

BMDQNR/L

(  Ewm1075 )
Tool cutting edge angle 107.5°

CE R L [N 57138 &5 Compoundcyicrcalming oo

BMDFNR/L

( FERo1° "
Tool cutting edge angle 91°

(=3
T

7°

NP
Cylindricakturningtool/

k)
k. Cylindrical turning tool

&

%
y
b

# #% Specification

T
Shim

SHET
Pin

WKigee  IRF

Screw

Wrench

71 B Blade

i1 4% Specification

Shim Plate screws

Clamp

MDQNR/L1616H11 16 16 100 32 16 20 L2.0

DNOO1104000 MD1103 | CTM513 | HL1813 | MLO625 L3.0
MDQNR/L2020K11 20 20 125 30 20 25 -
MDQNR/L2020K15 20 20 125 37 20 25

DNOI[150400 MD1506
MDQNR/L2525M15 DNCIC115060100 25 25 150 37 25 32 MD1504 CTMB19 | HL2114 | MLO625 L3.0
MDQNR/L3232P15 32 32 170 37 32 40

7E EREET EWR IR RF

Shimscrew Wrench

DDQNR/L1616H11 16 16 100 32 16 20
DNOO110400 MD1103 HLD-3 M5X9P
DDQNR/L2020K11 20 20 125 32 20 25
DDQNR/L2020K15 20 20 125 37 20 25 M6<21 L3.0
DNCI(1504000] MD1504
DDQNR/L2525M15 DNCIC11506010] 25 25 150 37 25 32 MD1506 HLD-2 MBX9P
DDQNR/L3232P15 32 32 170 37 32 40

AFZUSH LA, TEZHEREREH

<k8 https://www.wencerl.com

o =D
& ||| (o8 e

MDFNR/L1616H11 16 16 100 32 16 20 L2.0

DNOIC110400 MD1104 | CTM513 HL1813 MLO625 LS.O
MDFNR/L2020K11 20 20 125 32 20 20 :
MDFNR/L2020K15 20 20 125 32 20 25

DNOO150400 MD1506
MDFNR/L2525M15 DNCIC11506010) 25 25 150 32 25 32 MD1504 CTM619 | HL1813 MLO0625 L3.0
MDFNR/L3232P15 32 32 170 32 32 40

T EiREET TIEBET |RF

71 B Blade

# 4% Specification

Shim Plate screws

Shim screw Wrench

0 h b I L1 h1 f @
DDFNR/L1616H11 16 16 | 100 | 32 16 20
DNCIC11104003 MD1103 HLD-3 | M5X9P
DDFNRL/2020K11 16 16 | 100 | 32 16 20
DDFNR/L2020K15 20 20 | 125 | 37 20 25 MBX 21 L3.0
DNCI[1150410] MD1504
DDFNR/L2525M15 | oo i 20ac0) | 25 25 | 150 | 37 25 S D206 HLD-2 | M&X9P
DDFNR/L3232P15 32 32 | 170 | 37 32 40

AFZAUSTEN, THREZEEREREH

https://www.wencerl.com

34




B & CERL

 EEfarse by 15° T
Tool cutting edge angle 75° - i
|
- 75°
GLK]./ L1 ‘
| L
s 1
) 6° —
_SEZED = .
k. Cylindrical turning tool P
7 M
. / TypeM
\\\ //’,
Blade % ope atio B 2 .
— [ d D = o
: (=)
: Q h b T R f @ § m
MSBNR/L2020K12 20 20 125 32.5 20 17
MSBNR/L2525M12 | SN[I[1120400(1 | 25 25 150 | 32.5 | 25 22 | MS1204 | CTM617 | HL1813 | ML0625 L3.0
MSBNR/L3232P12 32 32 170 | 32,5 | 32 27
MSBNR/L2525M15 - - 25 25 | 150 | 35 25 32 L3.0
SNOO150600[] MS1504 | CTM822 | HL2217 MLO&30 L4‘D
MSBNR/L3232P15 32 32 170 35 32 40 *
MSBNR/L3232P19 28 32 170 35 32 27
SNCIC1906010] MS1904 |CTM1022| HL2217 | MLO830 L4.0
MSBNR/L4040R19 40 40 200 35 40 35
I #H H#
m TIH  [EiREET TIEEET RF
L # Spscirication Shim Plate screws Shim screw Wrench
Q h b L | 1| n f @
DSBNR/L2020K12 20 20 125 | 32.5 | 20 17
DSBNR/L2525M12 SNO[O120400 25 25 150 32.5 25 22 MS1204 M6Xx 21 HLD-1 M6 9P L3.0
DSBNR/L3232P12 a2 a2 170 32.5 32 27

AFZUSH LA, TEZHEREREH

35

https://www.wen

cerl.com

57[\ E 7] E ‘é’ 'j:t Compound cylindrical turning tool

BMSDNN

[ EEfase i
Tool cutting edge angle 45°

v

SMEIZET)

Cylindricaiturningtoolj

%

71 B Blade

Clamp

EWR Reipes

Screw

wF
Wrench

71 K Blade

##% Specification

Shim Plate screws

Shimscrew Wrench

=3
@ h | b Lo| w1 | mo| ot @ @ !ﬂ
MSDNN1616H12 16 16 | 100 | 35 16 8
MSDNN2020K12 20 20 | 125 | 35 20 10
SNCIC112040000 MS1204 | CTM617 | HL1813 | MLO625 | L3.0
MSDNN2525M12 25 25 | 150 | 37 25 | 125
MSDNN3232P12 32 32 | 170 | 37 32 16
MSDNN2525M15 25 25 | 150 | 43 25 | 125 -
SNLILI1506010] MS1504 | CTM822 | HL2217 | MLOB30 L4
MSDNN3232P15 g9 32 | 170 | 43 a0 16
MSDNN3232P19 32 32 | 170 | 45 32 16
SNLCICI1906000] MS1904 |CTM1022| HL2217 | MLO830 L4
MSDNN4040R19 40 40 | 200 | 45 40 20
NE RS TIH8ET |RF

q h b L 1| f @
DSDNN1616H12 16 | 16 | 100 | 35 | 16 | 8
DSDNN2020K12 20 20 125 35 20 10
SNOO120400 MS1204 | M6x21 | HLD-1 | Mex9P | L3.0
DSDNN2525M12 25 | 25 | 150 | a7 | 25 | 125
DSDNN3232P12 32 | a2 | 170 | 37 | 32 | 16

AFZAUSTEN, THREZEEREREH

https://www.wencerl.com

36




— L I T R PP ———

BMSKNR/L BMSRNR/L

f F{HMA75° N T 4 = FRET5° B S
Tool cutting edge angle 75° | Tool cutting edge angle 75°
u— = - o
750 {
2t 5=

75"~

S vy

750 (. <
L1
6° L ‘

‘ 75°\

' 1
6° o — o
= = <
SMNEIZET] _SMEZET
L Cylindrical turning tool ) A Cylindrical turning tool - —

e V.,

L

hi

/ " TypeM \

(ot k] £HET EtR  Fskige  [F $HET ER W@ iRF
M4 Specification Shim fE‘in Clamp Screw Wrench 71 Blade Ein Clamp Screw Wrench

& [©]

ol

MSKNR/L2020K12 20 20 125 31 20 25 MSRNR/L2020K12 20 20 125 32 20 25
MSKNR/L2525M12 | SNOJ[C120400001 | 25 25 150 28 25 32 MS1204 | CTMB17 | HL1813 | ML0625 L3.0 MSRNR/L2525M12 SNO[120400 | 25 25 150 32 25 32 MS1204 | CTMB17 | HL1813 | ML0625 L3.0
MSKNR/L3232P12 32 32 170 28 32 40 MSRNR/L3232P12 32 32 170 32 32 40

7] i Blade 1% Specification N EEEE]  ER TJRIBET RTF

Shim Platescrews Clamp Shimscrew Wrench

T ——— E [EIRIEST ER RE4T T

Shim Platescrews Clamp Shimscrew Wrench

Q h b b L1 h1 f @ @ h b L L1 h1 f @
DSKNR/L2020K12 20 20 | 125 31 20 25 DSRNR/L2020K12 20 20| 125 [ 32 20 25
DSKNR/L2525M12 | SNOJ[J120401 | 25 25 150 | 28 25 32 |MS1204| M6x21 HLD-1 M6 x 9P L3.0 DSRNR/L2525M12 | SNCI[J12040[1 | 25 s || ke || ek 25 32 |MS1204| M6x21 HLD-1 M6X9P L3.0
DSKNR/L3232P12 32 32 170 28 32 40 DSRNR/L3232P12 a2 32 170 32 32 40
ABEZLSA LN, TESZSEERERES ABEZUEAEH, TEZHEERERES

Y8 https://www.wencerl.com https://www.wencerl.com ek




.

CERL

57[\ E 7] E ‘é’ 'j:t Compound cylindrical turning tool

BMSSNR/L BMTQNR/L
=T i C Eamis ) {
Tool cutting edge angle 45° o Tool cutting edge angle 105° -
b ‘ﬂms" o

45"4_/%
L1

el i )

&
6y o s o

i

_SNEAET = j SNEET 5[
k: Cylindrical turning tool P L Cylindrical turning tool P oy

39

7] B Blade

1 #& Specification

T8 EREET

Shim Platescrews Clamp

EWR 7 HeRsT

Shim screw Wrench

#HF

DSSNR/L1616H12 16 16 100 35 16 20
DSSNR/L2020K12 20 20 125 35 20 25
SNOIC1204000] MS1204| M6X21 HLD-1 M6EX9P L3.0
DSSNR/L2525M12 25 25 150 37 25 32
DSSNR/L3232P12 32 32 170 37 32 40

AFZUSH LA, TEZHERERES

https://www.wencerl.com

D& S omE
) Type D / TypeM \ _—
| | @. '= vy
. ' \ E MTQNR/L1616H16 16 16 | 100 | 30 16 20
b o \\‘ P
T e e MTQNR/L2020K16 20 20 125 28 20 25 L2.0
TNCI16040100 MT1603 | CTM513 | HL1813 | MLO0625 L3.0
MTQNR/L2525M16 25 25 | 150 | 30 25 32 .
iFicati B §HET ER  ege |/F
) 7 E St MTQNR/L3232P16 32 32 | 170 | 30 32 40
M4 Specification Shim Pin Clamp Screw Wrench
@ b i L1 hi f @ @ @ T hgy O EW ORSUEe mF
Specification == LM 3H = e
71 Blade Airg Sp Shim Centerpin Clamp Screw Wrench
MSSNR/L1616H12 16 16 | 100 | 35 16 20
2
J
MSSNR/L2020K12 20 | 20 [ 125 | 35 | 20 | 25 @ % =7 Q ﬁ
SNOO120400 MS1204 | CTM617 | HL1813 | MLO625 L3.0
MSSNR/L2525M12 25 25 | 150 | 37 25 a5
WTQNR/L2020K16 20 20 125 32 20 25
MSSNR/L3232P12 32 32 170 37 32 40
L2.6
NCIC11604 = =
MSSNR/L2525M15 5E oe 150 39 ae 32 - WTQNR/L2525M16 TNOO16040000 25 vk 150 32 25 32 MT1603 | CT515-T | HLT-16 | M5x23 L4.0
SNOICI1506000] MS1504 | CTM822 | HL2217 | ML0830 L4
MSSNR/L3232P15 32 32 | 170 | 39 32 40 WTQNR/L3232P16 32 s || kel || ae 32 40
MSSNR/L3232P19 32 32 170 43 32 40
SNOO1906020 MS1904 | CTM1022| HL2217 | ML0O830 L4
MSSNR/L4040R19 40 40 | 200 | 43 40 50

AFZAUSTEN, THREZEEREREH

https://www.wencerl.com

40




1.

CE R L |  shm 2 7) 81 &5k Compoundoyinancuring ol

ol ™ 4 T
EHEmot° ( 91° -
Tool cutting edge angle 91° il a Toolcut%n?glge angle 91° o
or° ) v
i 1
Sere Jore
\ 6; - L1 6. |- L1
L | L |
B —— | 6°
ShEIZET] = = SpEI%E 7] ‘
e Cylindrical turning tool ) Cyl‘mdrli‘cgiﬁrningtool
K,

L B —1 \

41

Shim Platescrews Clamp  Shim screw

Wrench

AFZUSH LA, TEZHEREREH

https:]/www.wencerl.com

o - /
£ aati T8 SHET EtR  Rskige  FF ificati Ak $HET ER  Weige RF
71} Blade A 1n Specilication G By |\cadn | Saw Wenn 71y Blade % Specitication Shim Pin Screw Wrench

Shim Plate screws

Clamp

Shim screw Wrench

(=D
v s YA a v

MTENR/L1616H16 16 | 16 | 100 | 29 | 16 | 20 e e i el sl e | o
MTFNRIL2020K1IE | 1604000 o f 20 L 125 | 29 | 20 | 35 | \'ri603 | cTM513 | HL1813 | MLos2s | L20 L2.0
MTFNR/L2525M16 25 25 150 31 25 32 L3.0 MTGNR/L2020K16 TNOO16040000 | 20 20 125 29 20 25 | MT1603 | CTM513 | HL1813 | ML0625 L3.0
MTFENR/L3232P16 a3z [ 32 [170 | 31 [ 32 [ a0 TGN e B E e 5z bisn s e | s
MTFNRIL2525M22 | 2004y oo | 25 | 150 | 36 | 28 | 82 | \\roroa | cTMB17 | HL1917 | MLOs30 | L3O (3.0
MTENR/L3232P22 sollaen b0 haeh D ez han L4.0 MTGNR/L3232P22 | TNOJ(122040101 | 32 | 32 | 170 | 32 | 32 | 40 | MT2204 [ CTM617 | HL1917 | MLO830 | ‘0

#1 & Specification 7% ERRET R JIRUEST 7] K Blade & Specification 7#E EREEET JEW IR IRF

PIFNALIBI6H & 1o |4 J10a ) 24 | 15 | 20 DTGNR/L1616H16 16 | 16 | 100 | 20 | 16 | 20
DTFNR/L2020K16 20 | 20 | 125 | 29 | 20 | 25 " ——
TENR/L2525M1E TNOD604000 = — e a7 | 25 | 32 | V71602 6x21 | HLD-3 5X9 L3.0 DTGNR/L2020K16 | TNCIC116040101 | 20 20 | 125 | 29 20 25 | MT1603| M6x21 | HLD-3 | M5X9P
L3.0
DTFNR/L3232P16 32 32 170 31 32 40 DTGNR/L2525M16 5 25 150 30 25 ap
DTGNR/L3232P22 | TNOI220401071 | 32 32 | 170 | 32 | 32 | 40 |MT2204| M6x21 | HLD-2 | M6X9P

AFZAUSTEN, THREZEEREREH

https://www.wencerl.com

42




B O CERL R oM 58 5, Compoundcpicrcalming oo

BEMTBNR/L BMTJINR/L

( ERATS 3 =T "
Tool cutting edge angle 75° — T Tool cutting edge angle 93°
o
L
ShEZE T SME 2 T)
k. Cylindrical turning tool P = - 3 Cylindrical turning tool P

oot a3 $HET EH  Jsdge HF FHET Eth Wsge iRF
7] Fy Blade At spaeliloation Shim Pin Clamp Screw Wrench 71} Blade Shim Pin Clamp Screw Wrench

=y
Jelclulu] o] @ N
MTJNR/L1616H16 16 16 100 30 16 20
MTBNR/L1616H16 20 20 125 35 20 12
L2.0 MTJINR/L2020K16 20 | 20 | 125 | 32 | 20 | 25 -
TNOICe0400] MT1603 | CTM513 | HL1813 | MLO625 L30 TNCOIC16040000 MT1603 | CTM513 | HL1813 | MLOB25 Exi
MTJNR/L2525M 16 ] 25 150 34 25 32 '
MTBNR/L2020K16 25 25 150 35 25 155
MTJNR/L3232P16 a2 32 170 36 32 40
MTJNR/L2020K22 20 20 125 37 20 25
ificati # SHET EtR  Jgskiges  $HF
M#% Specification P2k ; e L3.0
71 | Blade A& Sp Shim Pin Clamp || Secimd Wisnch MTJNR/L2525M22 | TNC1[J2204C1(1 | 25 25 150 | 38 25 32 | MT2204 | CTM617 | HL1917 | MLOB30 4D
.@ ﬁ MTJNR/L3232P22 32 32 170 40 32 40
cfs G
WTBNR/L2020K16 20 | 20 | 125 | 32 | 20 | 155 St i = = =
71k Blade #1 #& Specification s W EWR - TR RF
Shim Pin Clamp Screw Wrench
WTBNR/L2525M16 TNOIO160400] 25 P 150 32 25 20.5 | MT1603 | CT515-T | HLT-16 M5x23 tig 2
h b L Lo | ni f (>
vV NRBE AV
WTBNR/L3232P16 32 a2 170 32 a2 27.5
WTJINR/L1616H16 16 16 100 32 16 22
WTJNR/L2020K16 20 20 125 32 20 25 o
TNOO1604d0 MT1603 | CT515-T | HLT-16 | M5x23 L4A0
WTJNR/L2525M16 25 25 150 34 ) 32 '
WTJNR/L3232P16 32 32 170 34 32 40
B H HET EH W RF
Specification J# T
A Sp Shim Pin Clamp Screw Wrench
MTLNR/L1616H16 16 16 100 32 16 20
MTLNR/L2020K16 TNOO16040 20 20 125 32 20 25 MT1603 CT513 HL1813 | ML0OB25 I[gg
MTLNR/L2525M16 25 25 150 34 25 32
ABEZESHEN, TESHEERIERES AFEZHRSAEN, EZEERIEREH

EXR  https://www.wencerl.com https://www.wencerl.com R




57[\ E 7] E ‘é’ 'it Compound cylindrical turning tool

] CERL

BMTENN BMTWNR/L

( EEm60° k
Tool cutting edge angle 60°

—r o {5 £60° b

Tool cutting edge angle 60° o

|

— ]

60°% —
/

L.

10°

‘\}
o el

!lw ‘
{ L1
L 1

3 Cylindrical turning tool P

h1

Cyli 9I‘\$7]‘ |
L ylindrical turning too 3

B g i5F

Clamp Screw Wrench

71K Blade ##% Specification Tl THET EH gz RFE

Shim Pin Clamp Screw Wrench
=2
=
v h| b | L[ u | ont | ok @ @ 'ﬂ v o ISR e B ii § (B ﬁ
MTENN2020K16 20 (20 25 fas |20 ) A0 MTWNR/L1616H16 16 | 16 | 100 | 30 | 16 | 20
L2.0
MTENN2525M16 o5 o5 | 150 | 38 25 | 125 MTWNR/L2020K16 | TNOJCJ16040000 | 20 20 | 125 | 30 20 25 | MT1603 | CTM513 | HL1813 | ML0625 LAk
L2.0
TNOO16040000 MT1603 | CTM513 | HL1813 | MLOB25 | '3, MTWNR/L2525M16 o5 o5 | 150 | 30 o5 32
MTENN3232P16 32 32 | 170 | 35 32 16
MTENN4040R16 40 40 | 200 | 35 40 20
MTENN2525M22 25 25 | 150 | 38 25 | 12.5
TNCIC22040000 MT2204 | CTM617 | HL1917 | MLO830 ti'g
MTENN3232P22 32 32 | 170 | 38 32 16 . MTWNR/L-B
[ F{E#60° 2

Tool cutting edge angle 60°

7] B Blade H 4% Specification ko ST EW - Wt F

Shim Pin Clamp Screw Wrench

WTENN2020K16 20 | 20 | 125 | 36 | 20 | 10
WTENN2525M16 | TNOICI16040101 | 25 | 25 | 150 | 36 | 25 | 125 | MT1603 | CT515-T | HLT-16 | M5x23 | op
WTENN3232P16 32 32 170 36 32 16 SMEZET
Cylindrical turning tool
9 B,
Specification 7] 8 $HET EWR g ifF
##E Sp Shim Pin  Clamp Screw Wrench
=
S (]
MTWNR/L2020K16-B 20 | 20 | 125 | 26 | 20 | 335 oo
TNOICI1604000] MT1603 | CTM513 | HL1813 | MLO625 | |50
MTWNR/L2524M16-B 25 | 24 | 150 | 26 | 25 | a75 :
AFZMETHEN, JEZEERIERES AFZRETEN, EZTEERIERES

45

https://www.wencerl.com https://www.wencerl.com [J&ié




L R CERL

BMVJNR/L

( FHAs 3
Tool cutting edge angle 93°

SNEET
¢ Cylindrical turning tool )

7]

71 K Blade

&
Shim

$HET
Pin

E#
Clamp

Wekigee  I[HF
Screw  Wrench

57[\ E 7] E ‘;%’ 'j:t Compound cylindrical turning tool

BMVQNR/L

(( EHE@1175°
Tool cutting edge angle 117.5°

Shim Platescrews Clamp Shimscrew Wrench

" =

0 b L |t | m L e d § @ ﬁ
MVJNR/L1616K16 16 16 125 48 16 20
MVJNR/L2020K16 20 20 125 48 20 25 L2.0

VNIIC1604000] MV1603 | CTM513 | HL2414 | ML0B25 | %'

MVJNR/L2525M16 25 =5 150 48 25 32 ’
MVJNR/L3232P 16 32 32 170 48 32 40

71 B Blade ##%& Specification T EiREET SRR NBEET BT

10 h b L el s v | P
DVJNR/L1616K16 16 | 16 | 125 | 48 | 16 | 20
DVJNR/L2020K16 20 | 20 | 125 | 48 | 20 | 25
VNOC160400] MV1603 | M6X21 | HLD-4 | M5X9P | L3.0
DVJNR/L2525M16 25 | 25 | 150 | 48 | 25 | a2
DVJNR/L3232P16 32 | 32 | 170 | 48 | 32 | 40

MV1603

71 K Blade 4% Specification
ZVJNR/L2020K16 20 | 20 | 125 | 48 | =20 25
ZVINR/L2525M16 VNLCI[CJ160400C]0 25 25 150 48 25 32
ZVJINR/L3232P16 32 32 170 48 32 40

CT515-Z

HLZ-V

M8x25

AFZAUSTEN, THREZEEREREH

47

https://www.wencerl.com

ShEET)
k. Cylindrical turning tool

7] B Blade

10°
el

o
il B -
S f— L

T
Shim

$HET
Pin

E#
Clamp

Screw

Wdgee  [F

Wrench

#1#& Specification

Shim  Plate screws

Clamp

: S

* b L | 1| m - PFe d @ m %7
MVQNR/L1616K16 16 16 125 40 16 24
MVQNR/L2020K16 20 | 20 | 125 | 40 | 20 | 25 5

VNO[O16040001 MV1603 | CTM513 | HL2114 MLOB25 LSAO
MVQNR/L2525M 16 25 25 150 40 25 32 ’
MVQNR/L3232P16 32 | 32 | 170 | 40 | 32 | 40

TI% EiRAEET R 34T KT

Shimscrew Wrench

0 h b Lluwu | m| ¢ |OF
DVQNR/L2020K16 20 | 20 | 125 | 40 | 20 | 25
DVQNR/L2525M16 | VNCI[J1604C1(]1 | 25 | 25 | 150 | 40 | 25 | 32 | Mv1603 | M6x21 | HLD-3 | M5X9P | L3.0
DVQNR/L3232P16 32 | 32 | 170 | 40 | 32 | 40
Blade g =D d H A :
= a D a a
= ' o
0 h b L | L1 | n t |07 ao | {0 | §uo |
ZVONR/L2020K16 20 | 20 | 125 | 40 | 20 | 25
ZVQNR/L2525M16 | VNCICI160400] | 25 | 25 | 150 | 40 | 25 | 32 | MV1603 | CT515-Z| HLZ-V | M8x25 | 2
ZVONR/L3232P16 32 | 32 [ 170 | 40 | 32 | 40

AFZAUSAAN, THEEZEERFEREH

https://www.wencerl.com




B O CERL | ot S compoundcgicralming oo

BMVUNR/L BEMVVNN

r"

#95°

g |

Tool cutting edge angle 95°

. THmT72

5 )

Tool cutting edge angle 72.5°

LI

72.5°
SMEZET) B SMEZE T
L Cylindrical turning tool ® o L Cylindrical turning tool i

/

71 K Blade

Hl & Specification

70 g
Shim

$HET
Pin

E#
Clamp

Screw

WHigee  [F

Wrench

71 K Blade

1 #& Specification

Shim Platescrews Clamp

" =]
0 b L |t | m e 4 @ @ ﬁ’
MVUNR/L2020K16 20 | 20 | 125 | 35 | 20 | 30
VNOIC160400 MV1603 | CTM513 | HL2114 MLOB25 ::gg
MVUNR/L2525M16 25 | 25 | 150 | 35 | 25 | a2
T#  [EREEET EHR 8B4 RmF

Shimscrew Wrench

¢ h b G| ok | o | o#
DVUNR/L2020K16 20 | 20 | 125 | 35 | 20 | 30

VNOICI1604010] MV1603 | M6x21 | HLD-3 | M5x9P | L3.0
DVUNR/L2525M16 25 | 25 | 150 | a5 | 25 | 32

AFZAUSTAN, TERZEEREHREH

49 h&ps:/}www.wehcefl.com

71 K Blade

k-
Shim

$HET
Pin

ER
Clamp

PIES: vi2

Screw

HF
Wrench

! =
0 RS e @ m ﬁ
MVVNN1616K16 16 | 16 | 125 | 48 | 16 | 8
MVVNN2020K16 20 | 20 | 125 | 48 | 20 | 10 56
VNOI[O1604100 MV1603 | CTM513 | HL2414 | MLO830 L3.0
MVVNN2525M16 25 | 25 | 150 | 48 | 25 | 1255 '
MVVNN3232P16 s2 | 82 | 170 | 48 | 82 | 20

71 K Blade

<

Clamp

T [EiREET EWR O IHEET RmF

Shim Plate screws

Shim screw

Wrench

DVVNN1616K16 16 16 125 48 16 8

DVVNN2020K16 20 20 125 48 20 10
VNLI[J1604L10]

DVVNN2525M16 25 25 150 48 25 12.5

DVVNN3232P16 32 32 170 48 32 20

MV1603

M6Xx21

HLD-3

M5<9P

71 K Blade

##& Specification

Pak:S
Shim

$5T
Pin

Clamp

Screw

Wrench

- «f

0 h b L|u|m |t [ OF ao | {0 | Qo |
ZVVNN2020K16 20 | 20 | 125 | 48 | 20 | 10
ZVUNN2525M16 | VNCICH6040JC1 | 25 | 25 | 150 | 48 | 25 | 1256 | MV1603 |CT515-Z| HLZ-V | M8x25 | 52
ZVVNN3232P16 32 | 32 | 170 | 48 | 32 | 20

AFEZMSHEA, TEZHERERES

Hftps:f/www.wehce Fi com

50




57[\ E 7] E ‘é’ 'j:t Compound cylindrical turning tool

[ CERL

BMWLNR/L BEMWENN

( E®HE5° N
Tool cutting edge angle 95°

(( Fiams0° iy
Tool cutting edge angle 50°

] 3 I

e hEE
L ylindrical turning tool P

SMEIZE T

Cylindrical turning tool
\_ Cylindrical turning tool )

i
=

JJE 5T EHR g HF

™ N .‘./'- --M o % \\\\ . ‘
TypeZ \ / Typ?M N Ak Blads Shim Pin Clamp Screw Wrench
\ ) '. ‘@ l ; é h b A R f @ @ !ﬂ
M A MWENN1616H08 16 16 | 100 | 32 16 8
g = MWENN2020K08 WNLJ0804C11 | 20 20 | 125 | 32 20 10 | MWO0B04 | CTM617 | HL1813 | MLOB25 L3.0
Blade ¥ Spe 0 i A
e p e e MWENN2525M08 25 25 | 150 | 32 25 | 125
o (= i o =
i @ S S T IR YO @ @ (7] ABZHETEN, TREGERFHEH
MWLNR/L1616H06 16 16 | 100 | 28 16 | 20
MWLNR/L2020K06 20 | 20 | 125 [ 26.0 | 20 | 25 L2.0
S WNODoe0s00l = e il s 35| MWO0603 | CTM513 | HL1813 | MLO625 | |5
MWLNR/L3232P06 32 | 32 | 170 | 40.0 | 32 | 40
MWLNR/L1616H08 16 16 | 100 | 31 16 | 20
MWLNR/L2020K08 20 | 20 | 125 | 28.0 | 20 | 25
MWLNR/L2525Mos | WO 08040101 e —— e T 25 | 32 | MW0B04 | CTM617 | HL1813 | MLO625 | L3.0 BMWWNR/L
MWLNR/L3232P08 32 | 32 | 170 | 32.0 | 32 | 40
hes hea (" I.{ﬁﬁSOO ? r S
BISte Ly Spe St k 5 . 7 Tool cutting edge angle 50 o
: . — 50 ! =%
; h | b Lo| Lt | n| i @ 4 3 ( 2T 0
— N L1 1
DWLNR/L1616H06 16 | 16 | 100 | 28 | 16 | 20 ) 10° | !
. 10°)1
DWLNR/L2020K06 20 | 20 | 125 [ 260 20 | 25
WNLI[10604 MW HLD- M5 9P
DWLNR/L2525M06 D604 =281 25 | 150 | s2.0 | 25 | a2 S S a
DWLNR/L3232P06 32 | 32 | 170 | 400 | 32 | 40 sf
Mé&x21 L3.0 0°—— _
DWLNR/L1616H08 16 | 16 | 100 | 31 | 16 | 20 %
DWLNR/L2020K08 20 | 20 | 125 [28.0 | 20 | 25 - = o
WNLJ[J0804 MW0804 HLD-1 SNEZE T =
DWLNR/L2525M08 D0080400 5525 | 150 |20 | 25 | 32 M6 9P & Cylmdr!“cgzﬁmingmol )
DWLNR/L3232P08 32 32 | 170 | 32.0 | 32 40 _ T
ificati = HET HRER EZ25T BT
71k Blade & Specification I3 ; FRINIT S 5 A% : ~
Shim Pin Clamp Screw Wrench #1#& Specification )j‘#é #j‘f‘]’ ER Wsugx HEFE
Shim Pin Clamp Screw Wrench
h b L ) h1 f {2} fg @
Q Q ﬁ h| o | L |t | | ¢ @ § "?
ZWLNR/L1616H08 16 | 16 | 100 | 38 10 | 25 ptd J
ZWLNR/L2020K08 20 | 20 | 125 | 38 20 | 25 L3.0
S | WNODoseaiD S . I || Mwoaos | CT1B-Z | HLZ-08 | MBx25 i MWWNR/L2020K08 50 | 20 | 125 | 32 | 20 | 25
ZWLNR/L3232P08 32 | 32 | 170 | 38 32 | 40
MWWNR/L2525M08 | WNCJ[Joso4ll[] | 25 | 25 | 150 | 32 | 25 | 32 | Mwo0804 | CTM617 | HL1813 | ML0625 L3.0
MWWNR/L3232P08 s e [ g[S e | B
AEEZNESRAH, JEEEERERES AEZTER LW, AEZEERIERES

51 https://www.wencerl.com https://www.wencerl.com 52




- CE RL SMNElZE T & & X Compound cylindrical tuming tool AN E] ZE T] 18 £T 3K, Screw-type cylindrical turning tool

BMWWNR/L-B BSCLCR/L

I TR 95° “

(( FfEms0° A
Tool cutting edge angle 95°

Tool cutting edge angle 50°

)

SMEIZE T

SNEZET] iz 2L :
L Cylindrical turning tool

Ly Cylindrical turning tool y

ificati hgeL wF
J]1 B Blade # #& Specification e WEar R

B e 2 Spe atio H i =
= = 3 D = A
Q h b I L1 hi
pe =
h b || f
@ @ 'a SCLCR/L0808F06 08 08 80 10 08 10
SCLCR/L1010H06 CCrr106020000 10 10 100 12 10 12 M2.5x7 T8
MWWNR/L2020K08-B 20 | 20 | 125 | 26 | 20 | 335 SCLCR/L1212H06 12 12 100 12 12 16
WNO0804000] MWO0B04 | CTM617 | HL1813 | MLO625 L3.0 SeLh e 1e e i 3 = =
: THiG 13 A SCLCR/L1414H09 14 14 100 18 14 16
MWWNR/L2524M08-B 25 24 | 150 | 26 25 | 375 SCLCR/L1616H09 ccooesTadd 16 16 100 18 16 20 M4 x 10 T15
SCLCR/L2020K09 20 20 125 20 20 25
AT ESHET RN, TESSERIEFEH SCLCR/L2525M09 25 25 150 24 25 32
SCLCR/L2020K12 20 20 125 23 20 25
SCLCR/L2525M12 ccOO120400 25 25 150 26 25 32 M5 x 12 T20
SCLCR/L3232P12 32 B 170 28 32 40
-WWLN R/L AFEZHEAEH, TEZHEERIEREH
& + B 95° N .SCKC R/L
Tool cutting edge angle 95°
LA ke o o
Tool cutting edge angle75°
- =]
75¢ )
=5
0| SR L
'
!
0%y -
ST
L Cylindrical turning tool i = =
ShEZE) ||
L Cylindrical turning tool P
_ Blade Rl £hidy ek 6 Pl o 71 B Blade #4& Specification
pe i
fi‘*;;k_ P R I R A N @ ﬁ Q
WWLNR/L2020K06 WNCICI060a01] |0 | 20 | 125 | 38 | 20 | 25 |\ ie0a | cTsts | wwos | Mexer | L25 SCKCR/L1212H09 12 12 100 20 12 16
WWLNR/L2525M06 25 | 25 | 150 | 33 | 25 | 32 L3.0 SCKCR/L1414H09 14 14 100 20 14 16
WWLNR/L1616H08 16 16 100 33 16 25 SCKCR/L1616H09 ccoeeTadd 16 16 100 20 16 20 M4x10 T15
SCKCR/L2020K09 20 20 125 23 20 25
WWLNR/L2020K08 20 | 20 | 125 | 38 | 20 | 25 L3.0
WNJ[10804][] MWO0804 | CT618 | HLW-08 | M5x25 TG SCKCR/L2525M09 25 25 150 23 25 32
WWLNR/L2525M08 25 | 25 [ 150 | 38 | 25 | 32 ‘ SCKCR/L2020K12 D 20 20 125 23 20 25 . =
WWLNR/L3232P08 32 | 32 | 170 | 38 | 32 | 40 SCKCR/L2525M12 25 25 150 25 25 32 X
AFZUSAEH, TEZSEERERES AFZRESFENE, FETESERIERESR

53 https:/]www.wencerl.com https://www.wencerl.com 54




B D CERL I 5517447t s

BSCFCR/L BMSCMCN-100

" {10

Tool cutting edge angle 91°

=

L o1e

SMEIZET]

.

Cylindrical turning tool )

7] K Blade

=1 ]

SCFCR/L1212H06 Ccriros0210] 12 12 100 16 12 16 M2.5x7 T8
SCFCR/L1414H09 14 14 100 20 14 16
SCFCR/L1616H09 cclijesTalId 16 16 100 20 16 20 M4 x10 T15
SCFCR/L2020K09 20 20 125 20 20 25
SCFCR/L2525M12 ) 25 25 150 25 25 32

ccdtz20400 M5x12 T20
SCFCR/L3232P12 32 32 170 25 32 40

AEZASA RN, ATERZSERIFRES

BSCMCN

( THMA50°

Tool cutting edge angle 50°

5

S B %= T

7] B Blade

# #2 Specification

h

IR F
Wrench

SCMCNO0808H06 8 8 100 13 8 4

SCMCN1010H06 SeC a0 10 10 100 13 10 5 e L
SCMCN1212H09 12 12 100 18 12 6

SCMCN1414H09 14 14 100 13 14 74

SCMCN1616H09 ccosTatld 16 16 100 18 16 8 M4x10 T15
SCMCN2020K09 20 20 125 18 20 10

SCMCN2525M09 25 25 150 18 25 12.5

SCMCN2020K12 20 20 125 23 20 10

SCMCN2525M12 Sl = GRS 25 25 150 23 25 12.5 i 20

AFZESTEY, TEZFHERIFHEES

55

https:}/www.wencerl .com

( R E40°

Tool cutting edge angle 40°

"\

SMEIZE T

L Cylindrical turning tool P

Hl#& Specification

L 22

F
Wrench

SCMCN1010H06-100 ccos021] 10 10 100 13 10 5 M2.5x7 T8
SCMCN1212H09-100 12 12 100 18 12 6

SCMCN1414H09-100 14 14 100 18 14 i

SCMCN1616H09-100 ccOodoeeTaId 16 16 100 18 16 8 M4x10 T15
SCMCN2020K09-100 20 20 125 18 20 10

SCMCN2525M09-100 25 25 150 18 25 12.5

SCMCN2020K12-100 20 20 125 23 20 10

SCMCN2525M12-100 st LEgatT 25 25 150 23 25 12.5 Mawl2 Ten

AFEZRETAEKN, AEZEERIEREH

BSCGCR/L

a EHEMo1°

Tool cutting edge angle 91°

¥

S B %= T

%

Cylindrical turning tool

71 5 Blade

#H#& Specification

e

Screw

wF
Wrench

SCGCR/LO808FO08B 08 08 80 10 08 10
SCGCR/L1010HO6 CCrlI0s02[1C] 10 10 100 12 10 12 M2.5x7 T8
SCGCR/L1212H06 12 12 100 12 12 16
SCGCR/L1212H09 12 32 100 18 12 16
SCGCR/L1616H09 16 16 100 18 16 20
SCGCR/L2020K09 e s 20 20 125 20 20 25 B Tl
SCGCR/L2525M09 25 25 150 24 25 32
SCGCR/L2020K12 20 20 125 23 20 25
SCGCR/L2525M12 ccOzo40 25 25 150 26 25 32 M5x12 T20
SCGCR/L3232P12 32 32 170 28 32 40

AT ERSTAN, TRZEERFEREH

https://www.wencerl .com

56




- "'

CE R L. | o 713 Tt Seen-typecyindrica g oo

BSCBCR/L

" FHM75°

Tool cutting edge angle 75°

=

SMEIZET]

L Cylindrical turning tool

o

7] B Blade

##& Specification

Ree

Screw

RF
Wrench

BSDJCR/L

( TRM93°

Tool cutting edge angle 93°

3

SCBCR/L1212H09 12 12 100 13 12 9.5
SCBCR/L1616H09 ceomosTaOn 16 16 100 15 16 13 K FHE
SCBCR/L2020K09 20 20 125 12 20 17
SCBCR/L2525M09 25 2h 150 12 25 22
SCBCR/L1616H12 16 16 100 20 16 13
SCBCR/L2020K12 ccuz2040101 20 20 125 16 20 17 M5x12 T20
SCBCR/L2525M12 25 25 150 16 25 28

AFZESTEY, TEZHERIFHFEES

_ShEIET - .
- Cylindrical turning tool P
7] K Blade Wﬂf‘ezrl:_ch
&
SDJCR/L1010H07 10 10 100 14 10 12
SDJCR/L1212H07 DCIJo702000 12 12 100 14 12 16 M2.5x7 T8
SDJCR/L16816H07 16 16 100 14 16 20
SDJCR/L1212H11 12 12 100 20 12 16
SDJCR/L1414H11 14 14 100 20 14 16
SDJCR/L1616H11 16 16 100 20 16 20
SDJCR/L2020K11 pcOm11T300 20 20 125 20 20 25 M4 x10 T8
SDJCR/L2525M11 25 25 150 22 25 32
SDJCR/L3232P11 32 32 170 23 32 40
SDJCR/L4040R11 40 40 200 25 40 50

BMSCACR/L

( EEme0°

Tool cutting edge angle 90°

e

SME 2T

e

Cylindrical turning tool i

7] K Blade

4% Specification

£

Screw

wF
Wrench

BMSDACR/L

AFZASTAN, TEEZEERFEREH

( TRMI0°

Tool cutting edge angle 90°

=

SMEIZET)

.

Cylindricaiturningtool/

y -4

Hl#& Specification

b |

£
f § 3

SCACR/LDB08KO6 8 8 125 10 8 8

ccafosoz210 M2.5x7 T8
SCACR/L1010K086 10 10 125 10 10 10
SCACR/L1212K09 12 12 125 13 12 12
SCACR/L1414K09 cconosTaid 14 14 125 13 14 14 M4 <10 T15
SCACR/L1616K09 16 16 125 13 16 16

SDACR/LO808HO7

SDACR/L1010H07 DCOlo7o20d0 10 10 100 15 10 10 M2.5x7 T8
SDACR/L1212H07 12 12 100 15 12 12

SDACR/L1212H11 12 e 100 22 12 12

SDACR/L1414H11 14 14 100 22 14 14

SDACR/L1616H11 DCO1T300 16 16 100 22 16 16 M4 x10 T15
SDACR/L2020K11 20 20 125 22 20 20

SDACR/L2525M11 25 25 150 22 25 o0

AFZRSAAN, TRZEERIEFEEH

57 _h_ttps:}’./www.wénce_rl.com

AFZRSAAN, TRZEERIEFEH

_I'ittps:‘/‘/www.wénce_rl.com 58




- CERL I 73873 5t

( F@mor° ‘ _ - (( *Rfm625 ) PR
Tool cutting edge angle 91° Tool cutting edge angle 62.5° Pl FS W
o -]
— r el
912 , L
Y ‘ —t
o / i 275"°
Ol L (@) ol L1 <
L | % L
_SNEET _SNAET
L Cylindrical turning tool ) i Cylindrical turning tool Y,
% Specification e T " o
7] K Blade 4% Sp el Weerit #1#% Specification
SDFCR/L1212H07 DCOOo7o2010 12 12 100 8 12 16 M2.5x7 T8 BRHCH0 oHEs pcOOo702000 i L 1 L 10 > M2.5x7 T8
SDNCN1212H07 12 12 100 14 12 6
DNCN1212H11 12 12 100 21 12 6
SDFCR/L1816H11 16 16 100 14 16 20 =
o " SDNCN1414H11 14 14 100 21 14 7
DCO11T30 M4 x10 T15 pcOM11T3000d M4 x10 T15
SDNCN1616H11 16 16 100 21 16 8
SDFCR/L2020K11 20 20 125 14 20 25
SDNCN2020K11 20 20 125 21 20 10
AFEZRSAIHN, THEZFEEKIERES AFEZHSTAEN, ATEZSERIERES
N FRM75 ) 5°

Tool cutting edge angle 75°

" EHF107.5 ) I o
Tool cutting edge angle 107.5°

SME ZE 7]
N Cylindrical turning tool ) W

SME 2 T)
L. Cylindrical turning tool

o e T
7] B Blade # #& Specification Sera Vicst ok

I #& Specification ¥
7] B Blade #Ag Sp Wrench
’ SSBCR/L1212H09 12 12 100 14 12 9.5
SDQCR/L1010HO7 10 10 100 13 10 12 SSBCR/L1616H09 16 16 100 14 16 13
DCOIo0702010] M2.5x7 T8 scOfOoeT3O M4 x10 T15
SDQCR/L1212H07 12 12 100 1 12 16 SSBCR/L2020K09 20 20 125 30 20 17
SDQCR/L1212H11 12 12 100 14 12 16 SSBCR/L2525M09 25 25 150 a3 25 20
SDQCR/L1616H11 ocO011Ta00 16 16 100 14 16 20 Eo— -
x
SDQCR/L2020K11 20 20 125 16 50 o5 SSBCR/L2020K12 . 20 20 125 30 20 =5y — .
SDQCR/L2525M11 25 o5 150 20 25 32 SSBCR/L2525M12 25 25 150 25 22 22
AFEZREMEFN, ATEZEEREREN AFEZHRESAEN, TEZEERIEREH

59

com

https://www.wencerl .com https://www.wencer




- CERL I 55787 s oo o

BSDWCR/L BSSKCR/L

( ERfars )
Tool cutting edge angle 75°

(@625 )
Tool cutting edge angle 62.5°

0°

o

SEZETT SNEET
. Cylindrical turning tool ) \_Cylmdrlcallurmngioolj

71 K Blade # 4% Specification e wF

Screw Wrench

7 ficati i F
71 i Blade #H & Specification Viieril

SDWCR/L1616H11 16 16 100 16 26 SSKCR/L1212H09 12 12 100 15 12 16
SDWCR/L2020K11 DCOOI11T30I0 20 20 125 20 29 M4 x10 T15 SSKCR/L1616H09 16 16 100 20 16 20 M4 x10
sScOoaT30d 118
SDWCR/L2525M11 25 25 150 25 34 SSKCR/L2020K09 20 20 125 25 20 25
AFEREAEH, TESESEREFTEH SSKCR/L2525M09 25 25 150 22 25 A M4 x10
SSKCR/L2020K12 Sc12040] 20 20 125 20 20 25 M5x10 T20

AFEZESTEY, TREHERIFHEES

BSDZCR/L BMSSSCR/L

( Efmm9s° ) (( EiRf45° 3
Tool cutting edge angle 93° Tool cutting edge angle 45°

AEET SMEIZE D
i Cylindrical turning tool ) L Cylindrical turning tool R

7] i Blade ##& Specification HF

J] / Blade
al Wrench

SDZCR/L1616H11 16 16 100 16 25 SSSCR/L1212H09 12 12 100 16 20 16
SDZCR/L2020K11 DCOO11T30O00O 20 20 125 20 29 M4 x10 T15 SSSCR/L1616H09 16 16 100 16 16 20
scOfoeT3Id M4x10 T15
SDZCR/L2525M11 25 25 150 25 34 SSSCR/L2020K09 20 20 125 18 20 25
+ - - R/L2 M 25 25 150 26 25 32
AT SHETER, THESSERERTH SSSCR/L2525M09
SSSCR/L2525M12 SC12040] 25 25 150 25 25 32 M5x12 T20

AFZASTEN, TEZEERIEREH

61 ‘https://www.wencerl.com https://www.wencerl.com Je¥4




- CERL I 1747 o st

BMSSDCN BSTGCR/L

d FRMI1° b a |

" EEMA5 A

Tool cutting edge angle 45° Tool cutting edge angle 91°

INEZE T SMEIZET]
9 Cylindrical turning tool ) | ¥ L Cylindrical turning tool 2 —

7] B Blade 71 Blade Bl#% Specification S%?r%w Vaifch
¢ A4 A
STGCR/L0OBOBHO9 08 08 100 10 08 10
SSDCN1212H09 12 12 100 16 12 6
STGCR/L1010H09 THHCRelE 10 10 100 12 10 12 A—— .
BalEHISIatEe 11 i Ll i L £ STGCR/L1212H11 CE—— 12 12 100 16 12 16 ‘
SSDCN1616H09 SCOM09T300 16 16 100 16 16 8 M4 x10 T15 STGCR/L1616H11 ] - 16 16 100 20 12 20
SEDCNEII0K0E = = o = 55 % STGCR/L1616H16 16 16 100 22 16 20
STGCR/L2020K16 . 20 20 125 22 20 25 —— —
SSDCN2525M09 25 25 150 16 25 16 STGCR/L2525M16 25 25 150 22 20 32
STGCR/L3232P16 32 32 170 22 25 40

AEZAMSTEN, TEZFERIFIRES
AFZAUSTEN, TEEEERFEREH

BSTFCR/L BSTWCR/L
i &
fd ° “ 15 f60°
ToolcuttEin{gﬁeﬁ;g; angle 91° Tool cutting edge angle 60°
=800
-~ g1° }
ki i< an
\ it} -
SMEIZE T
SMNEIZET] i N :
k Cyl‘mdrlj‘cgiﬁming tool i k. Cylindrical turning tool )

5 F

1 1& Specification 71 Fr Blade Wrench
STroRMotoR0e | To0oseril | 1o | T | e | w2 | o | 72 SRR P T B e T
TcOOt1 10200 : M2.5x%7 T8
il il 1e - e - L L M2.5x7 T8 STWCR/L2020K11 20 20 125 8 20 23.3 %
STFCR/L1414H11 TCcOO110200 14 14 100 16 14 16 STWCR/L2525M11 o5 25 150 8 5 28.3
STRCRILTE166 L 18 (i 19 i = STWCR/L1616H16 16 16 100 12 16 21
- TCOO16T300O M4 x10 T15
STFCR/L2020K16 TCOO1eT30O 20 20 125 22 20 25 M4 x10 T15 STWCR/L2525M16 25 25 150 12 25 31
STFCR/L2525M16 25 25 150 22 25 32 STWCR/L3232P16 32 32 170 12 32 38
AFEZRSAEN, TEZEEREREN AFEZESAEN, TEZEEREREN

63 https://www.wencerl.com [&S

https://www.wence rl.com




BN R CERL N 475875 v s e

BSTECR/L

( R M30° :
Tool cutting edge angle 30°

SMEZET]
Cylindricaiturningmol/

8

BMSVV*N

[ ERAT25 )
Tool cutting edge angle 72.5°

SNEIZET]

i ical t ingt
9 Cylindrical turning tool )

" 44 HFE
71K Blade #1& Specification iRee
ification L F =, Screw Wrench
1% Spec s Wrench e
Type
- g h b L L1 h1 f P /@
CTIBEf7 BIIKEHES &
SVV-N1010H11 10 12 100 25 10
STECR/L1414H11 14 14 100 35 14 14 SVV_N1212H11 12 12 100 28 =
TCOO110200 M2.5x7 T8 vcOooi10300
STECR/L1616H11 16 16 100 35 16 16 SVV-N1616H11 VBLOI1103010) 16 16 100 24 16 M2.5x7 T8
SVV-N2020K11 20 20 125 24 20 10
STECR/L2020K16 20 20 125 5 20 20
= 2 2 1 4 2 12,
TCOO16T300 M4x10 T15 SV Hesd M) = > o = = &
STECR/L2525M16 25 25 150 5 25 25 SVV-N1616H16 16 16 100 34 16 8
SVV-N2020K16 VCOI116040100 20 20 125 34 20 10
y 2 3 T . M4x10 T15
ARZUSAEN, ARIZHRRIFREH SVV-N2525M16 VBLI1604000] 25 25 150 34 25 12.5
SVV-N3232P16 32 32 170 34 32 16
AFEREAEH, ATEZEERIEREH
* *
BSVJ*R/L HBSVQ*R/L
’ F{Ef93° A - THMA117.5° ) 1 —
Tool cutting edge angle 93° Tool cutting edge angle 117.5° B
= 11752
al. —
QO‘L L1
L1
L i
mi" 0°
\
] = ¥
- AMNEZET L ¥ CSNEET L
9 Cylindrical turning tool ) % Cylindrical turning tool )
7] i Blade # % Specification iRee i F 71 K Blade #4& Specification
Screw Wrench =
oS s
Tyoe 4 p | A e
55 o 5
CTIEEf7 BIEES = 2 & CAEERAT BIAEMRS
SVJ-R/L1212H11 12 12 100 25 12 16
SVJ-RIL1616H11 vBOD1103010) 16 16 100 28 16 20 M2.5x7 T8 SVA-RILT616HTE s 6 100 % 6 20
SVJ-R/L2020K11 i 20 20 125 32 20 25 ‘ SVQ-R/L2020K16 20 20 125 35 20 25
SVJ-R/L1616H16 18 16 100 32 16 20 gggé‘]ggf{gg M4 x10 Ti5
SVJ-R/L2020K16 VCIIC11604010) 20 20 125 32 20 25 i o_— SVQ-R/L2525M16 25 25 150 35 25 32
SVJ-R/L2525M16 VBLI160401 0] 25 25 150 32 25 32
SVJ-R/L3232P16 32 32 170 40 32 40 R¥G-Rlkasasi g e a2 170 35 92 40

ABZESTEN, TEZIBERIERE AFEZRSTAAN, ATRZEERIEEES

GER  https://www.wencerl.com https://www.wencerl.com




o 2 CERL

BSVU*R/L

( Efwmose )
Tool cutting edge angle 95°

S B ZE 7]
Cylindrical turning tool )

.

71 K Blade

gt

Screw

wF
Wrench

SVU-R/L1616H11 T — 16 16 100 12 16 20
vBOO110300] Me.5x7 18
SVU-R/L2020K1 1 20 20 125 16 20 25
SVU-R/L1616H16 16 16 100 20 16 30
SVU-R/L2020K16 e 20 20 125 20 20 30
VBLI11604010] D HiD
SVU-R/L2525M16 25 25 150 16 25 32
SVU-R/L3232P16 32 32 170 16 32 40

ABEZREFEN, AEFHIRIFIRES

BMSVWBR/L

SVWBR/L

0°

72.5wA@)

SrEZET]

. Cylindrical turning tool

1 #& Specification

w —

71 K Blade
SVWBR/L1616H11
SVWBR/L2020K11 VBO1103010
SVWBR/L2525M11

16 16 100 16 26
20 20 125 20 30
25 25 150 25 35

M2.5X7

T8

AFZRSTEN, TEEFERFEREH

SIS https://www.wencerl.com

4 B ZE 77 52 £T 3K Screw-type cylindrical turning tool

BSVZBR/L

SVZBR/L

SMEIZ T

Cylindrical turning tool Y

.

M #& Specification

L 44

Screw

wF
Wrench

SVZBR/L1616H11 16 16 100 16 26
SVZBR/L2020K 11 VBOIO110300 20 20 125 20 30 M2.5X7 T8
SVZBR/L2525M11 25 25 150 25 35
AFEERETEN, EZFEERIERTEH
L1

SRAPR/L

o JhEZE7
_ ylindrical turning tool P

71 K Blade

I f
.6 |

il #& Specification

L5

Screw

wF
Wrench

SRAPR/L1616H08 16 16 100 16 16 16.5
SRAPR/L2020K08 RPOICI08T2010] 20 20 125 16 20 20.5 M3 x8 T8
SHRAPR/L2525M08 25 25 150 16 25 25.5
SRAPR/L2020K10 20 20 125 20.3 20 20.6

RPOCI10T30I0 M3.5x 10
SRAPR/L2525M10 25 25 150 20.3 25 25.6 o
SRAPR/L2020K12 20 20 125 25 20 20.8

RPCICI120400 M4 x10
SRAPR/L2525M12 25 25 150 25 25 25.8

AFZBESTEN, TEZSERFREH

https://www.wencerl.com




BN N CERL I 75175 v e

BESRDPN BMSRGPR/L )
™ T —
SRDPN SRGPR/L
| o
.OLL_, ‘ 1
oef B
E _ i
I NCES)) ES 2 -
\hCyIinchfiicalﬁmingtcu:)l}H \_Cylindrical turning tool
wF
J1h Blade Wrench

wF
715 Blade Wrench & /@
@ SRGPR/L1212H05 :
SRGPR/L1616H05 16 16 100 95 16 20
RPI[050207(] M2.2x6 T6
SRDPN1616H08 16 16 100 16 16 8 SRGPR/L2020K05 20 20 125 14.2 20 25
SRDPN2020K08 RPOI08T2000] 20 20 125 16 20 10 M3x8 T8 gggggﬁgfgmgg f: f: :gg 1;167 ?g ?2
SRDPN2526M08 =2 23 130 15 a5 =3 SRGPR/L1616H06 16 16 100 10 16 20
SRDPN1010H10 10 10 100 20.3 10 5 SRGPR/L2020K06 RPLILI0&02LIL) 20 20 125 12 20 25 Me fxg L
SRDPN1616H10 16 16 100 20.3 16 8 SRGPR/L2525M06 25 25 150 15 25 32
RPOIC10T3000] M3.5x10
SRDPN2020K10 20 20 125 20.3 20 10 Ti5 SRGPR/L1616H08 16 16 100 11 16 20
SRDPN2525M10 25 25 150 20.3 25 12.5 SRGPR/L2020K08 RPLJ08T20]0] 20 20 125 12.7 20 25 M3x 8 T8
SRDPN2020K12 20 20 125 25 20 10 SRGPR/L2525M08 25 25 150 16.2 25 32
SRDPN2525M12 P 25 25 150 25 25 12.5 Midxcto SRGPR/L1616H10 16 16 100 11 16 20
. - SRGPR/L2020K10 RPCIC110T3010] 20 20 125 12.7 20 25 M3.5x10
AFZRSAEN, TRZEERIEFEH SRGPR/L2525M10 25 25 150 16.2 25 32 Ti5
SRGPR/L2020K12 _ 20 20 125 13 20 25
SRGPR/L2525M12 RELILIN208 10 25 25 150 17 25 32 Mdx10
AEZREAEH, TEZFSERIEFES
P . BSRACR/L
SRDCN h[_ il S
P o SRACR/L
il [ L |
o . |
: j-_-’
_AEZET - —
\_Cylindrical turning tool ) F— —= "
SMEIZET -
Cylindrical turning tool
F Blade #1#& Specification wF ~ ~
7] Wrench
iticati 2% wRF
[ | I #& Specification dpee
@ 71k Blade ##& Sp Screw Wrench
SRDCN1616H08 - h b " 11 hi ; \\_&@
SRDCN2020K08 RCCI[10803010] 20 20 125 16 20 10 M3x8 T8 & p
gggnggfgmfg fg fz :gg 21063 fz 1?5‘5 SRACR/L1616H08 16 16 100 16 16 16.5
: SRACR/L2020K08 RCOI0803010) 20 20 125 16 20 20.5 M3x8 T8
SRDCN1616H10 RCLICI100301C] 15 15 100 | 203 15 8 SRACR/L2525M08 25 25 150 16 25 255
SRDCN2020K10 20 20 125 20.3 20 10 M3.5x 10 Ti5 SRACR/L2020K10 T ——— 20 20 125 20.3 20 N s
SRDCN2525M10 25 25 150 20.3 25 12.5 SRACRI/L2525M10 25 25 150 20.3 25 25.6 = .
SRDCN2020K12 20 20 125 25 20 10 SRACR/L2020K12 20 20 125 25 20 20.8
RCCICI1204000] 5 1 .
SRDCNz2525M12 25 25 150 25 25 12.5 SRACR/L2525M12 i i 25 25 150 25 25 e M350
AEZREALH, TEZEERERES AEZREAEH, TEZEERIERES
https://www.wencerl.com https://www.wencerl.com 70




— CERL I 74 17 o i

BSRGCRI/L BMGTTR/L

-~ o N, = o ™~ Tmax
SRGCR/L J GTTRI/L

-.-‘

SMEZET]

\ Cylindrical turning tool )

Cyl dgE‘EI’ |
ylindrical turning too |
Specification wF p -
71 Blade A% Sp Wrench
SRGCR/L1212H06 12 i 100 10 12 16 v
SRGCR/L1616H06 . 16 16 100 10 16 20
SRGCR/L2020K06 e 20 20 125 12 20 25 .
SRGCR/L2525M06 25 25 150 15 25 32 T8 GTTR/LOSFOO 8 8 20 8 8 2/3
SRGCR/L1616H08 16 16 100 11 16 20
SRGCR/L2020K08 RCL1(J0803(1L] 20 20 125 127 20 25 M3 x 8 GTTR/L10F00 10 10 80 10 10 2/3
SRGCR/L2525M08 25 25 150 16.2 25 32 GTMO32R/LOIC M4x10 Ti5
SRGCR/L1616H10 16 16 100 11 16 20 GTTR/L12F00 19 12 100 12 12 2/3
SRGCR/L2020K10 RCOO100300 20 20 125 127 20 25
SRGCR/L2525M10 25 25 150 16.2 25 32 M3.5%x 10 T15 GTTR/L16F00 16 16 100 16 16 2/3
SRGCR/L2020K12 20 20 125 13 20 25
SRGCR/L2525M12 AELILT 204 25 25 150 17 25 32 GTTR/L20F00 20 20 120 20 20 2/3
AELHBNEN, TRERERFHEH AESHESTEN, TRERERIEFES
i G
HAOR SVNR
Tmax
z o]
_
| L |
1
" 0\-.‘/
0°;f —
= B
0 ¥ ey
SNEIZE T o o ShEIZE 7
Cylindrical turning tool ) . Cylindrical turning tool )

iReL

Screw

HF
Wrench

WF

Wrench 71 F Blade #1#& Specification

7] B Blade

HAORO7 T 7 120 7.9 7 SVNR1010H-12N 10 10 100 10 10
HAORO8 HAOF 8 8 120 8.9 8 SVNR1212X-12N 12 12 120 12 12
HAORO095 ::gz 9.5 9.5 120 10.4 9.5 M2.5x7 T8 SVNR1616X-12N VNBOIRCIO 16 16 120 16 16 M3 x8 T8
HAOR10 HAOG 10 10 120 10.9 10 SVNR2020X-12N 20 20 120 20 20
HAOR12 12 12 120 12.9 12 SVNR2525M-12N 25 25 150 25 25
AFEREFEN, FEZEERIFRES AFEZRESAEN, FEZEERIFIRES

72

i

7Https://www.wéncerr| .com 7Https://www.wéncerr|.com




ShEZE 7]
_ Cylindrical turning tool |

71 K Blade #1 #& Specification L 529 HF

Screw Wrench
--
(e [ w [ = [0 [
S16H-SVNR12N

VMNBLIRCIC]

BE

Type

S14G-SVNR12N

S20H-SVNR12N

S25H-SVNR12N

AFEREBEN, TREBERFREEN

BCKBR

CKBR-1616

ShEIED
Cylindrical turning tool 3

71 B Blade # 4% Specification 23 ¥

Screw Wrench

ye
Type

Srie - W }L$D g\ }IJ
CKBR1212-16 :  FE P EEFEEEESEEBEE B |

CKBR2020-16

www.wencerl.com

CKBR2525-18

ABEREAEN, TREHEKEREEH

73 -Httpsé,-//www.wéncérl.com



1.

QO
EKBE
=]
N SE | EMCLNR/L
[Th=1
- N QE% DET OWT - ~
1B #HI5° Dmin/hinT
| Tool cutting edge angle 95° mmﬁri\j]ﬁ
E'E
& % = il
S & e RS S
ik ] o | By | g\
& - — e
> = x > N
8 : o b & : : &
* 08 08 [@° (3 I B
?n\_‘ L AVAN | y 2 ﬁgg = _ Internal turning tool )
@ Ee 52 i 7
Z o <§ RD:o 4
o | 4
L= & 58‘ (3] m 2 o
B ig: [0.:me | B
= > ~5 &
Al (- Qﬂv_ Ny zm SLTIS -
@ i ’ Type Z ; TypeD / TypeM
/ \ | 1 / \
o o 2 e J { | . | \ © I
5] @l @ e [ @ | § ' , \ \ o ‘
5 o o o o | g0 ! i = \ A / \ /
> v 8 /‘8 o2 ol @Q g P} 2 h i g y % E /
™ ™ &) ' b ee| 22| 28 £l g2 - = S
— — | &~ o |S5|Ex|2%| o | ¢ | & | %x | = e T S et
% S |8e|8e|(Te| 5| |3 2|8
< | oo o wvw |EH g2 (gs|gS(sg| & |G |2 |2 |a
U ?‘% 28 | 0d %m 2 | & |wi ]E 7 # Specificat nw g ER WM RTF
b || B @ ab| ¥ ecification 3 e
Rﬁ RE | QE | & | 2 r no| e | s = 71} Biade itk Sp Shim Pin Clamp Screw Wrench
BE | €E | HE M| H O EE| #
¢0|Q|loT«|i|a © || |u|v| |« T & &
o no 0| | |o|F|>| 2 S$16Q-MCLNR/L12 20 | 16 | 180 | 35 | 14.8| 11 | 18°
%‘ E S20R-MCLNR/L12 25 | 20 [200| 45 | 19 | 13 | 15° / CTME13 | HL1810 | MLOB20 | L3.0
o
> S25S-MCLNR/L12 | CNOO120400 | 29 | 25 [ 250 | 45 | 24 | 15 | 12°
I
w S32T-MCLNR/L12 38 | 32 [300| 50 | 30 |205] 17°
MC1204 | CTM617 | HL1813 | ML0625 | L3.0
- S40T-MCLNR/L12 44 | 40 [300| 55 | 38 | 24 | 15°
S32T-MCLNR/L16 o 40 | 32 | 300 | 50 | 30 |225| 17° g
| CNLII160601[] MC1604 | CTM822 | HL2217 | ML0830 | [
S40T-MCLNR/L16 48 | 40 | 300 | 55 | 38 | 26 | 15° :
o : : i BIEET WF
£~ 11§ Specification 7H® EiRERST FEIR 3@% JI B3R
- HHEHHEHHEHEEE 7} FiBlade Mz Sp Shim  Platescrews Clamp Spring Shimscrew Wrench
m 3___ | ||| ||| M| || WO
T | Y E Z c [Vl 7 A e ] > g > 0 ¢Drnin f‘?d |E; 129 H f o’ @ WW ﬁ
S20R-DCLNR/L12 25 | 20 |200| 45 | 19 | 13 | 15° /
$25S-DCLNR/L12 29 | 25 |250| 45 | 24 | 15 | 12°
CNLI[1204000] M6x21 | HLD-1| TH810 L3.0
m Wl $32T-DCLNR/L12 38 | 32 (300 50 | 30 [20.5/ 17°
mse MC1204 M6 9P
gES S40T-DCLNR/L12 44 | 40 |300| 55 | 38 | 24 | 15°
N €55
Blade g e o i bt he 7
] F cl [ a ope 0 e
T WpoE FEE RE i o B 7
HE S (SR80t & eDminl¢d [ L (L1 [H |1 |« » | @ | 801 | o 7
w &8 Rormdlas
S32T-ZCLNR/L16 40 | 32 |300| 50 | 30 |22.5| 17° L3.0
©l T n CNOIO16060100 MC1204/CT618-2] HLZ-C | M8X25 | ZCMs [in
S40T-ZCLNR/L16 48 | 40 |300| 55 | 38 | 26 | 15° ‘
AFEZAUSTEE, TEFFERIERES
8 https://www.wencerl.com https://www.wencer




- CERL [ 777 2 ot o

BMCKNR/L BMCWNR/L

) Dmin AT HE f
e

850° R

( FIRA75°
Tool cutting edge angle 50° Dminf M T ER

Tool cutting edge angle 75°

¢d

|‘

WFLET
Internal turning tool

MFLZET]

Internal turning tool

ificati T8 HHET EHR Mg RF tioati pak: ] 55T ER  Xsuge [BF
71} Blade #¥s Spacification Shim Ein Clamp Screw Wrench 71}y Blade Ak Bpacifioation Shim Ein Clamp Screw Wrench
(=
° ¢ Dmin| ¢d L L1 H f o @ @ @ 0 4 B gt b L H ! e @ § 'a
S20R-MCKNR/L12 25 20 | 200 | 45 19 13 156° P S20R-MCWNR/L12 30 20 | 200 | 45 19 17 187 /
/ CTM613 | HL1810 | MLO620 L3.0 / CTME13 | HL1810 | ML0620 L3.0
S255-MCKNR/L12 30 25 | 250 | 45 24 | 155 12° S255-MCWNR/L12 35 25 | 250 | 45 24 [19.5] 12° 7
CNOO120400 CNOI[O1204000
S32T-MCKNR/L12 38 | 32 |300| 50 | 30 | 205 17° S32T-MCWNR/L12 4z || 32 | 300 (500 | 30 [23.5( 17°
MC1204 | CTM617 | HL1813 | ML0625 L3.0 MC1204 | CTM617 | HL1813 | ML0625 L3.0
S40T-MCKNR/L12 46 40 | 300 | 55 38 24 16° S40T-MCWNR/L12 50 40 | 300 | 55 38 27 15°

7N ERRET B HE IHREET BT

Shim Platescrews Clamp Spring Shimscrew Wrench

; TR o JI# EREEET ER O EE n®eEsT RE
71 Blade A& Specification 71k Blade #814; Spaciiication Shim Platescrews Clamp Spring Shimscrew Wrench

0 pDmin| ¢ L |L1|H| |« @ ﬁ 0 $0min| ¢d| L [L1|H| 1 |a° @
S20R-DCKNR/L12 25 (20)200|45(19 | 13 |15° / S20R-DCWNR/L12 30 |20 |200{45 |19 (17 [15° /
S255-DCKNR/L12 30 | 25 |250| 45 | 24 |[15.512° S255-DCWNR/L12 35 |25 |250| 45| 24 [19.5/12°
CNI[12040() M6x21 | HLD-1 | TH810 L3.0 CNOO1204000 M6x21 | HLD-1 | THs10
S32T-DCKNR/L12 38 |32 [300| 50 | 30 [20.5/17° $32T-DCWNR/L12 42 |32 |300| 50 | 30 [23.5{17°
MC1204 M6X 9P MC1204 M6 X 9P
S40T-DCKNR/L12 46 | 40 |300| 55|38 | 24 [15° S40T-DCWNR/L12 50 | 40 |300| 55 | 38 |27 |[15°
P B g4 BN HEET EIiR F
ification 7] i
71 B Blade #M1& Specificatio e Pin Clamp Screw Sloperring Wrench
c7
0 © o |8 o= C |~
S32T-ZCKNR/L12 38 | 32 |300| 50 | 30 [20.517° L5.0
CNOO120400 MC1204|CT618-Z| HLZ-CB | M8x25 ZCM6 L4‘0
S40T-ZCKNR/L12 46 | 40 |300| 55 | 38 | 24 | 15° :
AFZRSTAEN, TEZSEERIERES AFZRSAEN, TESEERIEREN

I8 https://www.wencerl.com https://www.wencerl.com &




BN R CERL I 757 £ oo o

EMTJNR/L EMTFNR/L
(" 3 o ~

= 91° B
Tool cut%n@?élge angle 93° Dming/hnTE# _ Tool cu%n{ﬁgge angle 91° Dm\ﬂﬁfl/‘DﬂIE?é H

MFLET] MFLET]

Internal turning tool ) % Internal turning tool

SHET FER  Wagzz  wF
71 Fy Blade i Pin Clamp Screw Wrench 2 P—
=) DB - TOME

& &

( ‘ \
| | ‘
el
L2.0 \ \ E /
CTM511 | HL1810 | ML0620 N ; N /
i et 4
o - = B s h -

S25S-MTJNR/L16 TNCICO16040000 | 30 25 | 250 | 45 24 16 12° .

S20R-MTJNR/L16 24 20 | 200 | 40 19 | 125 | 158°

S32T-MTJNR/L16 ik 32 300 54 30 195 | 17° | MT1603 | CTM513 | HL1813 | ML0625 ::gg
i # 4ET EM  Wskge  iRFE
o= = e - Blade 1% Specification A% ; e
ATEHETEN, TRESEREGTH e Nk s Sp Sar | b | Climp (Sitew | Wesich

S16Q-MTFNR/L16 20 16 180 35 15 11 15°
S18Q-MTFNR/L16 22 18 180 35 17 o 15° /- L2.0
g CTM511 | HL1810 | MLO620 L3.G
S20R-MTFNR/L16 25 20 200 40 19 13 15° .

TNLICI16040]

S255-MTFNR/L16 30 25 250 45 24 156.5 | 12°
S32T-MTFNR/L16 38 32 300 54 30 205 | 17° L2.0
MT1603 | CTM513 | HL1813 | ML0O625 L3.D
S40T-MTFNR/L16 47 40 300 60 38 25 15° .

71 Blade ##& Specification NE [EARIEST R RE BB RF

Shim Platescrews Clamp Spring Shimscrew Wrench

v $Dmin| ¢d| L [L1| H | f |«a® Wﬂm ﬁ
S16Q-DTFNR/L16 20 |16 (180| 35|15 11 [15°
S18Q-DTFNR/L16 22 |18 (180|35 [ 17 | 12 [15° / /
S20R-DTFNR/L16 25 |20 |200| 40 |19 |13 [15°
TNCIC1804010] M6x21 | HLD-3 | TH810 L3.0
S255-DTFNR/L16 30 |25|250| 45 | 24 [15.5(12°
S32T-DTFNR/L16 38 |32 |300| 54 | 30 [20.5{17°
MT1603 M5 X 9P
S40T-DTENR/L16 47 | 40 |300| 60 | 38 | 25 [15°

AFZAUSTAHN, THRESEREREH

79 7https‘:,‘//www.wéncérl.com 7Https:‘/‘/www.wéncerr|.com




1.

CER L | 7L 2 7) 81 5 Compound nena tuing oo

BMTWNR/L

i F{R60° A

Tool cutting edge angle 60°

Dminf /M T EE

ofl
Ll

(o4
ke

0°/

%7

Internal turning tool

71 i Blade

JI# tHET EiR W /T
Shim Pin Clamp Screw Wrench

BEMTUNR/L

([ @RS )
Tool cutting edge angle 95°

MFLET

Internal turning tool

71 K Blade
me

Dminf /M T EE

##% Specification

$HET
Pin

FEHR B RF
Clamp Screw Wrench

=)
v ¢Dmin| ¢d | L | L1 | H | f | a° iOE @ 'a ﬂ
S20R-MTWNR/L16 25 | 20 | 200 | 40 | 19 |135| 15° e
" | cTM511 | HL1810 | ML0620 50
S255-MTWNR/L16 TN OO1e04 | 30 25 250 45 24 (165 12° '
L2.0
S32T-MTWNR/L16 37 | 32 | 300 | 54 | 30 | 20 | 17° | MT1603 | CTM513 | HL1813 | MLOB25 |  °

71 i Blade

[EtRIRET JEMR EE JEmeEsT RF

Plate screws Clamp Spring Shimscrew Wrench

v ¢Dmin| ¢d| L |L1| H [ f | a®
S20R-DTWNR/L16 25 | 20 [200| 40 | 19 |13.5] 15°
S825S-DTWNR/L16 | TNJO1604CJ0| 30 | 25 |250| 45 | 24 (16.5| 12° M6Xx 21 HLD-3 | TH810 L3.0
S32T-DTWNR/L16 37 | 32 |300( 54 | 30 | 20 |17°| MT1603 M5X 9P

S160-MTUNR/L16 20 | 16 [ 180 | 40 | 15 | 11 | 15°
S18Q-MTUNR/L16 22 | 18 [ 180 | 40 | 17 | 12 | 15° : (20
" | cTM511 | HL1810 | ML0620
S20R-MTUNRI/L16 25 | 20 [ 200 | 40 | 13 | 1355 150 | ~ L3.0
TN CIC11604010]
S25S-MTUNR/L16 30 | 25 | 250 | 45 | 24 [155| 12°
S32T-MTUNR/L16 38 | 32 [ 300 | 54 | 30 [205] 17 (5
MT1603 | CTM513 | HL1813 | ML0625
S40T-MTUNR/L16 47 | 40 | 300 | 60 | 38 | 25 | 15° L3.0
[EHR4BET EWR HE JIEB4T HFE

7] K Blade

Plate screws Clamp

Spring Shimscrew Wrench

v ¢Dminf ¢d| L [L1| H| f | «® ﬁ’
S16Q-DTUNR/L16 20 |16 |180| 40 | 15| 11| 15°
S18Q-DTUNR/L16 22 | 18 |180| 40 | 17 | 12 | 15° / /
S20R-DTUNR/L16 25 | 20 |200| 40 | 13 [13.5) 15°
TN O1604010] M6X21 | HLD-3 | THB10 L3.0
S255-DTUNR/L16 30 | 25 |250| 45 | 24 |[15.5 12°
S32T-DTUNR/L16 38 | 32 |300| 54 | 30 |20.5/17°
MT1603 M5 % 9P
S40T-DTUNR/L16 47 | 40 |300| 60 | 38 | 25 | 15°

AFZAUSTAN, TERZEERFEHREH

81

https://www.wencerl.com

AFZAUSAHN, THREZEEREREH

https://www.wencerl.com

82




B ' CERL I L7 o o

EMTQNR/L BMSKNR/L
r o N Ve N
F1m 105 o ‘
Tool cutlingﬁedge angle 105° DminBh T ER Tool cu%@ﬁ;g angle 75° Dminf/hMTEE

L RELED - WFLZET)
ks nternal turning too p \ Internal turning tool
$HET B skt WF
71 K Blade Pin Clamp Screw Wrench

g é§ éﬂ é%%
S18Q-MTQNR/L16 21 | 18 [ 180 | 40 | 17 |11.5| 15°
P L2.0
S20R-MTQNR/L16 24 | 20 | 200 | 40 | 19 |[12.5]| 15° P CTM511 | HL1810 | ML0620 20
S255-MTQNR/L16 | TNCI[J160401(] | 30 | 25 | 250 | 45 | 24 | 16 | 12° L
S32T-MTQNR/L16 38 | 32 | 300 | 54 | 30 |205]| 17° L2.0
MT1603 | CTM513 | HL1813 MLO625
S40T-MTQNR/L16 48 | 40 | 300 | 60 | 38 | 26 | 15° L3.0
AESHSTEH, TESHEREFTH 71y Blade A Specification é#ﬁ %E mJﬁ 5u§r ﬁgih
o
$Dmin| ¢d | L 1t H f «® Q @ @
S20R-MSKNR/L12 26 20 200 40 19 14 15° P
/ v CTM613 | HL1810 | ML0620 L3.0
.MTLNR L S255-MSKNR/L12 30 25 250 45 24 16.1 | 12° &
S32T-MSKNR/L12 SNOO1204000 40 32 300 50 30 22 172
- Fimao5° N Dming/\MTER H
Tool cuiting edge angle 95° e e S40T-MSKNR/L12 48 40 300 55 38 27 15 MS1204 | CTM617 | HL1813 ML0O625 L3:0
S50U-MSKNR/L12 60 50 350 65 48 30 12°

B P— T EHREET Ei 0 BE @y BT

Shim Platescrews Clamp Spring Shimscrew Wrench

=)
>
&r e eDmin| d| L [L1| H]| f |a° @ W ﬁ
S20R-DSKNR/L12 26 | 20 |200| 40 | 19| 14 |15° /
S255-DSKNR/L12 30 | 25 |250| 45 | 24 |16.1] 12°
MELZET]
Internal turning tool ) S32T-DSKNR/L12 | SNOO120400 | 40 | 32 (300| 50 | 30 | 22 |17° M6x21 | HLD-1 | TH810 L3.0
S40T-DSKNR/L12 48 | 40 |300| 55 | 38 | 27 [ 15°| MS1204 M6 X 9P
711 Blade W4T B Ws@s  HFE S50U-DSKNR/L12 60 | 50 |350| 65 | 48 | 30 |12°
i Pin Clamp Screw Wrench
PN =D
v $Dmnl ¢d | L | L1 | H [ f et | /ON @ 'a
S18Q-MTLNR/L16 22 | 18 | 180 | 36 | 17 |125]| 15° ML0620 | |5
S20R-MTLNR/L16 25 | 20 (200 | 37 | 19 |185| 15 | 7 | CTM511 | HL1810 L3.0
TN 1604010 ’
S255-MTLNR/L16 30 | 25 | 250 | 45 | 23 | 17 | 120 L2.0
ML0B25
S32T-MTLNR/L16 37 | 32 [300| 50 | 30 | 21 | 17° | MT1603 | CTM513 | HL1813 L3.0
AFZRSAEN, TEZHEREREH ABEZUEAEH, TEZSHEERIERES

CER  https://www.wencerl.com https://www.wencerl.com &




] ' CERL

BMSSNR/L

( Ef@mes )
Tool cutting edge angle 45°

FLET

Internal turning tool

71 5 Blade

Dmin&/MNLER
JLES L]

SHET
Pin

Clamp

Screw

F
Wrench

S20R-MSSNR/L12 27

§255-MSSNR/L12

S32T-MSSNR/L12 38

& | B
20 200 35 19 155 15 CTMB13 HL1810 MLOB20
-1
A
SNOI[1204000] 30 25 250 40 23 17 i12° CTM613 | HL1810 MLO625 L3.0
32 300 45 30 21 17° | MS1204 | CTM8&17 | HL1813 MLOB25

AFZAUST AN, THRZEERFEREH

85 7Https:‘/‘/www.wénce'r|.com

R ¥LZE 7] & & =X Compound internal turning tool

BMDQNR/L

( EHF1075 )
Tool cutting edge angle 107.5°

—

MILET

Internal turning tool

R

71 K Blade

Dmin& /ML LER
A

Tl HET EH Wsges  RF
Shim Pin Clamp Screw Wrench

=
g Il T I B B P V4 (4]
’/
S20R-MDQNR/L11 | DNCOC11040001 | 25 | 20 | 200 | 40 |185(145( 15° [~ | cTmst1 | HL18t0 | MLos2s [ 1570
S255-MDQNR/L15 31 25 250 45 24 T i2° //// CTM613 HL2114 MLO625 L3.0
S32T-MDQNR/L15 | DNOICI15040101 | 38 | 32 | 300 | 50 | 30 [205] 17°
MD1506 | CTM619 | HL2114 | ML0625 | L3.0
S40T-MDQNR/L15 50 40 300 60 38 27 15°

71 K Blade

&

¢ Dmin

#H ¥ Specification

éd| L (L1 H | f

S20R-DDQNR/L11

DNOJOJ11040J00 | 25

20 |200| 40 [18.5/14.5/ 15°

S$25S-DDQNR/L15 31

25 (250|451 24 | 17

12°

S32T-DDQNR/L15 DNLOI[I15040000 | 38

32 [300( 50 | 30 [20.5[17°

J# EEEST EWR 3$_§ TIHUEET /F
Shim Platescrews Clamp Spring Shimscrew Wrench
/ P
LT Ve
/ HLD-3
/ M6 21 TH810 L3.0
HLD-2

MD1504 M6X 9P

S40T-DDQNR/L15 50

40 |300| 60 | 38 | 27

15°

AFZAUSAHN, THREZEEREREH

hﬁps:ﬂwww.wéncefl .com




R ¥LZE 7] & & =X Compound internal turning tool

] CERL

BMDWNR/L BMDUNR/L
2 ~ DminfhIER e g
Fi@me62.5° g | F1Rm95° | .
Tool cutting edge angle 62.5° Tool cutting edge angle 95° Dming/MITER

0\ =

=

MNiLET

Internal turning tool

FLET

Internal turning tool

Wer O EW WS [T
71 Blade i Pin Clamp Screw Wrench

S20R-MDWNR/L11 DNCIC1104010] 28 20 200 36 19 16 15 / CTM511 HL1810 MLOB20 |L2.0,L3.0
S255-MDWNR/L15 37 25 250 45 23 | 225 | 12° - CTM613 | HL2113

S32T-MDWNR/L15 | DNOO15040000 | 45 | 32 | 300 | 50 | 30 | 27 | 15° | MD1504 | CTM617 | HL2113 | ML0625 L3.0

S40T-MDWNR/L15 53 40 300 55 38 31 15° MD1506 | CTM819 | HL2113
‘ — a T ik 4ET ER Wz RF
ATERETEN, TRESEREREH 71} Blade AT Bpeaiication Zhie | P || Clamp | Serew | Wrench

=3
$Dmin| ¢d | L | L1 | H [ f | «° @ !‘J
T
S20R-MDUNR/L11 | DNLICI1104(](] | 26 | 20 200 | 40 |18.4 |14.5 | 15° [ " | CTM511 | HL1B10 | ML0620 tg'g
ol
$258-MDUNR/L15 30 | 25 |250 | 45 | 24 | 16 |12° [ 7 | CTM613 | HL2114 | ML0625 | L3.0

S32T-MDUNR/L15 DNJ[J1504J(] | 38 32 | 300 | 50 30 21 3 R

MD1506 | CTM819 | HL2114 | MLO625 L3.0
S40T-MDUNR/L15 48 40 | 300 | 60 38 26 | 15°

#1#& Specification TE EREET EW TIRRET IRF

71 Blade Shim Platescrews Clamp Spring Shimscrew Wrench

& -
S255-DDUNR/L15 30 | 25 (250| 45| 24 | 16 [12° /
S32T-DDUNR/L15 DN[CJ[J1504J7 | 38 | 32 (300| 50 | 30 | 21 |17° M6 21 HLD-2 | TH810 / L3.0
MD1506
S40T-DDUNR/L15 48 | 40 |300| 60 | 38 | 26 [ 15°

AFZAUSAHN, THREZEEREREH

87 7Https:‘/-/www.wéncér|.c0m hﬁps:}fwww.wehcefl.com 88




] CERL

BMDZNR/L

' FREMI3°
Tool cutting edge angle 93°

FLET

Internal turning tool J

7] i Blade

Dmin§/hITEZ

#1#% Specification

HET
Pin

ER Wskiges
Clamp  Screw

R F

Wrench

S
S255-MDZNR/L15 35 25 | 250 | 46 |23.4|20.5| 15° /,/ CTM613
832T-MDZNR/L15 DNLCIJ15040](] | 40 32 | 300 | 50 30 23 |17
MD1506 | CTM6B19
S40T-MDZNR/L15 50 40 | 300 | 65 38 a7 | 152

HL2114 | ML0625

L3.0

AFEZRSKN, TEZEERIEREH

[ https‘:-//www.wéncérl.com

R ¥LZE 7] & & =X Compound internal turning tool

BEMVQNR/L

( FiRfE117.5°
Tool cutting edge angle 117.5°

=

MFLZET]

Internal turning tool

71 K Blade

Dmin§h i TEZ

7

.n] 11755

L1

Tl
Shim

HET [EiR Wz RF
Pin Clamp Screw Wrench

S20R-MVQNR/L16 28 | 20 |200| 45 |185| 16 | 15° P
| eTms11 | H2t4 | MLos2s =
S25S-MVQNR/L16 31 | 25 | 250 | 45 | 24 | 17 | 12° '
VNOIC1604000

S32T-MVQNR/L16 39 | 32 [300| 50 | 30 | 23 | 17°
MV1603 | CTMs13 | HL2114 | MLos2s | 20

S40T-MVQNR/L16 50 | 40 | 300 | 55 | 38 | 27 | 15°
TP TIE JEWIEET ER SHE JIEiE4T WF
71k Blade M i# Specification Shim Platescrews Clamp Spring Shimscrew Wrench

S20R-DVQNR/L186

S255-DVQNR/L16

S32T-DVQNR/L16

S40T-DVQNR/L16

@ $Dmn| ¢d| L [L1| H | t |a*| -~
28 |20 |200| 45 [18.5 16 |15°
/ M5 21 HLD-3 TH710 / L3.0
31 | 25|250| 45 |24 [ 17 |12
VNCIL11604010)
39 |32 300503023 |17°
MV1603 | M5X21 | HLD-3 | TH710 | M5X9P 'l:gg
50 |40 |300| 55 |38 |27 |15°

AFZUSAHN, THRESERFERES

Vhrttps :‘//www.wéncerrl .com




- "'

BMVXNR/L

v

+1596°
Tool cutting edge angle 96°

Dmin/MITHE
vl

CERL | 7L 2 7) 81 & 5 Compound ntena tuing oo

BEMVUNR/L

( EERS°

Tool cutting edge angle 95° Dmi“%'JjMIE&

»

|_sq |

-

f A
« ‘,!J_, L
L

NFLET]

Internal turning tool

Internal turning tool

91

# ¢Dmin| ¢d| L [ L1| H | f
S20R-DVXNR/L16 27 | 20 [200] 40 | 19 | 14
S25S-DVXNR/L16 32 | 25 [250| 45 | 24 | 17
VNCI[1604010) M6xX21 | HLD-4 | TH810 L3.0
S32T-DVXNR/L16 42 | 32 [300| 50 | 30 | 23 | 17
MV1603 M5 9P
S40T-DVXNR/L16 50 |40 [300| 55 | 38 | 27 | 15
o B oga¢T  EW 4T EIF F
1% Specification ks ; : g
71 K Blade H1% Sp Shim Pin Clamp Screw Sloperring Wrench

@ polsa|L (1 |n |1 |07 oo |{O] || © |
S32T-ZVXNR/L16 42 | 32 |300| 50 | 30|23 | 17 L2.5

VNCIO1604000 MV1603|CT515-2] HLZ-V M8X 25 ZCM6 L4-0
S40T-ZVXNR/L16 50 | 40 (300| 55 | 38 | 27 | 15 !

AFZLUSAAN, THRESERIERES

https://www.wencerl.com

ificati B HHET ER Mg RF ER gz HF
M #%& Specification JE REE 71 | Blade
= 71 Blade % Sp Shim Pin Clamp Screw Wrench Clamp __Screw  Wrench
@ @ @ ¢Dmin| ¢d | L | L1 e d @ 'a
S20R-MVXNR/L16 27 20 | 200 | 40 19 14 15 B i S20R-MVUNR/L16 32 20 | 200 | 40 | 185 | 20 15° . 2.0
5 CTM511 | HL2414 | MLO625 L3i0 - - CTM511 | HL2114 MLO625 L3.0
S255-MVXNR/L16 3z 25 | 250 | 45 24 17 12 S5255-MVUNR/L16 34 25 | 260 | 45 24 20 12
VNLCI[O1604000] VNCI[J160400]
S32T-MVXNR/L16 42 32 | 300 | 50 30 23 i LoD S32T-MVUNR/L16 40 32 300 50 30 22 17° 120
MV1603 | CTM513 | HL2414 | ML0625 (30 MV1603 | CTM513 | HL2114 | ML0625 i3
S40T-MVXNR/L16 50 40 | 300 | 55 38 27 156 S40T-MVUNR/L16 48 40 | 300 55 38 26 15°
ificati #OERBST ER O HE D®mEs RTF ificati 7E ERERST Bl BE Rgs
M #% Specification 1= = ] =5k B EARIRET TN#EEET H/F
71k Blade AR Sp Shim Platescrews Clamp Spring Shimscrew Wrench 71 Fy Blade PlTe SEEbHICtan Shim Platescrews Clamp Spring Shimscrew Wrench

@ ¢Dmin| ¢d| L | L1|H| f |ac
S20R-DVUNR/L16 32 | 20 |200] 40 [18.5| 20 | 15°
$255-DVUNR/L16 34 | 25 |250| 45 | 24 | 20 [12°
VNOIO160400 0] M6 21 HLD-3 TH810 L3.0
S32T-DVUNRI/L16 40 |32 |30 50 | 30 | 22 |17°
MV1603 M5 9P
S40T-DVUNR/L18 48 | 40 |300| 55 | 38 | 26 | 15°

AFZAUSTAEN, TERESERIERES

https://www.wencerl.com

92




— 1.

Tool cutting edge angle 72.5°

MFLET]

Internal turning tool

/

L1

T
e

H
¥
72.?5’7'1\'72’? ‘

. ¢d |

T # L FEE  WsLge = 71 K Blade
il T8 fﬁ%]‘ RIS
71y Blade A Specitication Shim  Pin | Clamp | Screw  Wrench Clamp__Screw _Wrench
(=
=] &
: Dmin d 7
sd|l L |u|lm| ]| e|l07 @ﬁ‘@ @ * I U @ @ m
S16Q-MWLNR/L06 20 | 16 [ 180 | 35 | 15 |11.0| 18° B
F B W CTM511 | HL1511 | MLOS20 | L2.0
$25S-MVWNR/L16 40 | 25 (200 | 45 | 24 | 26 | 12 | CTMS511 | HL2114 | MLO620 [ 5 S18RCMWENR/LEG €2 | %8| 160 | 96 | 17 [0y 15
/ : S20R-MWLNR/LO6 24 | 20 [200| 40 | 19 |13.0| 15° B L2.0
VNLI[1604010) WN (1106040107 _— | cTM511 [ HL1810 | MLO620 | |-
S255-MWLNR/LOB 32 | 25 | 250 | 45 | 23 [17.0] 12° 3.0
S32T-MVWNR/L16 48 | 32 | 250 | 50 | 30 | 30 | 17 | MV1603 | CTM513 | HL2114 | MLO625 tgg S32T-MWLNR/L06 40 | 32 [ 300 | 50 | 30 |220]| 17° L20
: MWO0603 | CTM513 [ HL1813 | MLO625 | |5
S40T-MWLNR/L06 50 | 40 | 300 | 60 | 37 |27.0/| 15° 3.0
AFZREAEN, TEZEERERES S$16Q-MWLNR/LO8 20 | 16 | 180 | 35 | 15 | 11 | 15°
5$18Q-MWLNR/LOS 22 | 18 [ 180 35 | 17 | 12 | 15° ~
_— | cTM6813 | HL1810 | MLOB20 | L3.0
S20R-MWLNR/L08 25 | 20 [ 200 | 40 | 19 | 13.0| 15°
$25S-MWLNR/LO8 | WNIJ080401| 30 | 25 | 250 | 36 | 23 | 165 12°
BMVZNR/L S32T-MWLNR/L0S 38 | 82 [300| 50 | 30 | 20 | 17°
, e S40T-MWLNR/L08 46 | 40 | 300 | 60 | 37 | 24 | 15° | MW0B04 | CTMB17 | HL1813 | ML0O625 | L3.0
Tool cutting edge angle 93° DminS/h T ERZ S50U-MWLNR/LOB 56 50 | 350 | 70 a7 31 12¢
e
71 B Blade EtRs2sT EWR RS TIHEEET T
@ Plate screws Clamp  Spring Shimscrew Wrench
)
@ ¢Dmin| ¢d| L [L1| H| f |a®
S20R-DWLNR/L06 24 |20 |200| 40 | 19 [13.0{15°
: S255-DWLNR/L06 32 | 25 |250| 45 | 23 [17.0] 12°
WN (110604011 MWO0603 HLD-3 | TH810 | M5x9P L3.0
L% S32T-DWLNR/LO6 40 | 32 |300| 50 | 30 [22.0{17°
Internal turning tool S40T-DWLNR/LOG 50 | 40 |300| 60 | 37 |27.0 15°
M6 X 21
S20R-DWLNR/L08 25 |20 |200| 40 | 19 [13.0 15°
- $255-DWLNR/LOS 30 |25 |250| 36 | 23 [16.5/12°
71 B Blade #1#% Specification EHR W@t HF WN []]0804[(] MW0804 HLD-1 | TH810 | M6X9P L3.0
Clamp Screw Wrench S32T-DWLNR/LOS 38 |32 (30050 |30|20]17°
ST ﬁ S40T-DWLNR/LOS 46 | 40 |300| 60 | 37 | 24 [15°
#
$255-MVZNR/L16 40 | 25 | 250 | 45 | 23 | 26 | 12°| | CTMs11| HL2114 | MLO625 | 5D
J .
VNO 1604000
S32T-MVZNR/L16 48 | 32 | 300 | 45 | 30 | 30 | 17° | MV1603 | CTM513 | HL2114 | ML0625 tgg

CERL | 7771 5 &5, Compoundineral uming oo

FLE.
Internal turning tool

»

R

EMVWNR/L EMWLNR/L
. . 2 3 ~
: FwmM72.5° DB T &R Tool cutEtliEn{??;jgg angle 95° DmnfMITEE H

ER Xskapes

wF

AFZAUSTAN, TERZEERFEHREH AFZAUSAHN, THREZEEREREH

94

https://www.wencerl.com

EEN  https://www.wencerl.com




BN D CERL I 757 £ o o

HB2MWR BWTUNR/L 983°
f R m95° i 93 o DrinfMITER
Tool cutting edge angle 95° . s Tool cutting edge angle 93 A
T
T L
H1
L1
}
SNEL SR PO = WILET
L =2l Y ) L Internal turning tool y

71 K Blade ##% Specification 7 f§T ER Mg T

Shim Pin Clamp Screw Wrench

#1#& Specification Ak HET EHR ERBET T

Shim Pin Clamp Plate screws Wrench

=
)
$255-2MWR08-33 25 | 23 [ 33 | 16 250 L1<L2 / -
S255-2MWL08-33 25 | 23 [ 33 [ 16 [250] L1>L2 /| CTM813 | HL1810 | MI0620 e Bt s e o R s [ ) i e
$255-2MWN08-33 wNOosoann 25| 23] 38 [ 16 [260] Li-L2 / i NI LT " L2.0
S35T_2MWROB_35 ' v i R e K e : S32T-WTUNR/L16 (1604000 | 40 | 32 | @00 | 46 | 30 | 225 17 CT515-T -16 | M5x25 | "
$32T-2MWL08-39 32 | 29 | 39 | 20 |300| Lis>L2 |WN0804|CTM6E17 | HL1813 | MI0625 . s | 20 laoo | 55 | a8 |2es | 1o MT1603
$32T-2MWNO08-39 32 | 29 | 39 | 20 [300| L1=L2 40T-WTUNR/L16 .
ABZRSTW LN, AEEEERIERER AFZESTEN, TEZEEKRIEFES

 E RS DinfA IR
Tool cutting edge angle 95° -

7]

Internal turning tool

M# Specification , HET ER ERIZEET HWF
71 B Blade # 4% Specificatior Pin Clamp Platescrews Wrench
+omin O &
S25S-WWLNR/L08 32 | 25 | 250 | 40 | 23 | 17 | 122 | _—
S32T-WWLNR/LO8 | WNCICI080400 | 40 | 32 | 300 | 50 | a0 | 22 | 17° CTe18-W | HLW-08 | Msx25 | 130
MW0804
S40T-WWLNR/LO8 45 | 40 | 300 | 60 | 38 | 27 | 15°

AFZAUSTEN, TEREEEREREH

BN | https://www.wencerl.com https://www.wencerl.com




